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Although a monopolist can charge any pﬂm;hedjkbs.jt-daeaenotunhmem

higher price than his equilibrium price because :

(1) Higher price means fall in total revenue -

@) Hisher-priee'can‘be charged only on that segment of firm's dem_ar_ld
that the marginal revenue will

curve which is price inelastic, implying
be negative
(3) Itisinconsistent with profit m
(4) Marginal cost will be negative over the relevant range
m-qsmﬂm'mammm@wm%aﬁmquga
(1) ve @ wEe g o AR @
@ ﬂ%mmémmmﬁmmﬁmmmwm%aﬂm
m%zmwmmwmm
3 ﬂswﬂmé?mmmﬁﬁmﬂwﬁmm%
@ Waﬁmﬁﬁﬁsmqmwmm'

aximization goal under monopoly
of output

2.

I£X1=£P1, P2)and X2 =f(P1, P2), then the two commodities are substitutes

s
(1) (3X1/6P2) <0, GX2/BP1)>0 (2) (8K1/6P2) >0, (BK2/5P1) <0

(@) (6X1/8P2)>0, (6X2/5P1) >0 (4) (5X1/6P2) <0, (3X2/6P1) <0

p3) <0, (BX2/5P1) >0 (2) (6X1/5P2) >0, (BX2/5P1) <0

i ) >0, (BX2/5P1) >0 (4) (X1/5P2) <0, (8X2/6P1) <0

7R X1 =£(P1, P2) 3T X2 = f(P1, P2) 3 A R T T ) SR A

o ]




Code-A

Questions
: - | Under monopolistic competition, the cross elasticity of demand for the
- product of a firm will be :
. g (1) Perfectly elastic (2) Perfectly inelastic
| | ® Hienlyelastic (4) Highly inelastic
| SR mm%mwﬁ%wﬁmﬂmmwaﬁ?
b ) g dR (@) ke FeirER
¢ & @) R W (@) IwfE ddEER
¥ | 4. | The Samuelson-Holt formula provides a measure of :
g (1) Consumer’sequilibrium (2) Consumer’s surplus
o | (3) Elasticity ofdemand  (4) Marginal utility
$4 Hquma-giee. G R A1 S F ¢ 7
| @ v @ b @) I = s
?‘* @ @ ae @) dmr IR
if | 1 8. | The revealed preference approach to the derivation of indifference curve :

P 3 (2) Assumes that all people have identical tastes

: «') Is correctly described by both (1) and (3)

(1) Assumes stability over time of an observed person’s tastes

(3) Relies on repeated observations of the market behaviour of a single

_;Mwaﬁagmahqmmm

mmaﬁmmmmam'umt
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1 lﬂ) ~ There is no relationship between wage rate and hbonr supply
| (4) When wage rate increases, initially labour supply increases and after

- | @) @ Tegh X aed ® & @ angfd A Froge s @
| @ o= moh o @ @A gt @ o @
@) ol & R o omyftt 3 f B w2
| @ v oEh B A ghe A R @ mew #§ o oyl #F e A @ ol 5B W

Codesh

) W’hen wage rate declines, supply of labour increases

b, 4 some point with the increase in wage rate, labour supply decreases
mE MR R mgE M B :

mq@wﬁqﬁ%mma@ﬁmaméu

3 *'Who among the following is not associated with the collective bargaining
| by the labour with the management ?

- | 1) R.G.Lipsey
1 @ Neil W. Chamberlain
: (a) Giu*l M. Stevens

,’l




& | Code-A

uestior B 3 ; Questions

f‘»‘ﬂ- Select the correct situation which defines ‘welfare trap”

L R (1) When 'popu]ati.on?in an economy continues to remain poor even after

E increase in nominal income
|1 @ -‘When rise in the incomes of poor is neutralized by mﬂatlon
. e @) ‘When tmemployment increases alongwith inflation
y . (4) When people getting unemployment allowance do not want to work

';wwmmmﬁaﬁwm#mma-

gy@ o9 U e § sEe, e A § gie @ A off e &0 wd @
(@) W T B o T g R § ad & ot ¥

mmﬁh%m%ﬂmﬂm%
mﬁmwmﬁmﬁmmaﬂma@%

%oducer surplus is measured as:
) 1) Area under the demand curve above market | pnce '

@ Entire area under the supply curve
‘.@ Area under the demand curve above the supply curve

e Area above the supply curve up to the market price
e oy @ R v i § 7
® Wwﬁwmwﬁﬁﬂﬂﬂ

‘,,,m%#ﬁguaﬂ |
h 3 N i k. il‘-m" ; ::’" *., ot z t _:..#- .'
g‘: ! "4 -- Y ' 0w .:E;.."" Farh gt S e 4 = ok g
E 5 - L v
5 44
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Q htion

¥ | “ "ﬂnmmefs gain from the imposition of a price ceiling is higher when :
”(1)\ ‘The own price elasticity of market demand is hlgh and the price
5 elasticity ofmaxketsupply is high
) The own price elaatmty ‘of market demand is hlgh and the price
~ elasticity of market supply is low
' The own price Qlasﬁtﬁty of market demand is low and the price
elasticity of market supply is high
_ The own price elasticity of market demand is low and the price
- elasticity of market supply is low

»10 R

mﬁmﬁmmmm%mwﬁmaﬁm@am%

(2) 1951-52
(4) 1990-91




Questions
vy handloom worker is :
egood  (2) A consumer good 5

@ mg Ry I
@ ¥ & B

is always and everywhere a monetary phenomenon.” Theae are |
(2) Adam Smith
(3) Damd Ricardo 4) JM Keynes
WM@THW@WEWQ"QMWM37
_'__(1) P siei 2) T o
;(3) mm @) & &
ncept of “laissez-faire” was the contribution of ;

ca emngxmsts (2 Neo Classical economista
(4) None of the above




- | () Neutrality of money
(2) Wage price flexibility , 1
(3) Involuntary unemployment | A
-.ﬂ&mmm#{rmﬂﬁ%?

E
e ke
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A wmm
| @ R
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. | Defects in SNA include
'Neglects depletion of natural capital L.
- Neglects environmental pollution
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(4) Pncelevel
gﬁrﬂqﬁtmﬁﬂmﬂﬂm%?
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mbﬂlty is the contribution of w}neh

of the followiné

(2) J.M. Keynes ; P v N g
: (4) A.C.Pigou e
g i P 3 P e 1 A BT
o @ & w3 -
@ 4w b @ © & o |

what causes changes in inducement to invest by: f

Ea‘},. )

OT'C if

(2) MECand MPS
and rate of interest (4) MPC and rate of interest ’,
_mﬂqmq‘,mmﬂqﬁad’ﬂﬁwmﬁ?



| @ o ¥ R (@) Ao ot

.(2)' Change in employment
AR Chempe (4) Change in social welfare programmes |
mmﬁmmammmwm%?

'(3) mﬂvﬂaﬂw (4)wmmaarﬂmi’tqﬂaﬂw

" ;Ifm adls&mbﬂznmmean is 60, mode is 40 and the standard deviationis 10}

| ﬁ(lf) -2 @ 2

5 | then the coefficient of skewness will be :

@ -20 @ 5
',ﬁaw#wsot ww%mmmw% a‘tﬁmwwm
,""2 e ) e
-20 @ 5

moonent of the time series model that results in the multi-period

e-trend and below-trend behaviour of a time series is

A trend component (2) A cyclical component

A seasonal component (4) Anirregular component
_,mﬂ@mm%qﬁvm@ww%‘agm#mqﬁ

gfr e e &, A P 3 & w0 A 2 7 -

| cz) T T 9T
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‘Ina multlple regression w1th three mdependent variables, the regression
ooeﬁcinnts are to be tested. Which test would be used ?

W Ztest B S et

'-' ' (4) t test

11
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Queaﬁons

: Medum Mode = 1/4 (Mean — Mode)

f4) Median — Mode = 3/4 (Mean — Mode)
| P @ A

| @) i — g = 23 (T - T

| @ e - ag = 13 (T - 7
(@ e — g = 34 (7 — )

-

“ e

ned. The probabﬂlty of this sum being 2 is
) (1) 1/6 (2 1/36 3) 18 (4) 2/36
i 3 %mﬁm%aﬂrwaﬁaﬂtaﬁmm@wmmm%lm%M%

@ 1/36 @) 18 () 236

ompfthefollomngmcorreet? it g e
-Medmn Mode = 2/3 (Mean — Mode) s %

'(8) Median—Mode=1/3(Mean~Mode) ~- |

Two dme are thrown and the sums of the numbers on the faces up arel o

- (2) 1667%
0.01% (4) 18.67%
-wﬁamaﬂmwaahcvwmmiﬁml
% @ 16.67%

12

v




Code-A

i R

Questions

lft =0.3, mal tchtheztamamhet—lwﬁhthe 1tems1nLlst 5 | 3

List-1I
a. 03

List-1
i. o1
" Correlation eoeﬁiclenthetween —XandY : b. Limits of

correlation
. coefficient

. iii._ ‘The Square of Correlatmn Coefficient c. -03
iv. Coefficient of correlation between Xand-Y d. Coefficient of
Determination

a

|@
®
4)

i’ r, ﬂo.a,aﬁ@-laﬁaﬁeﬁa%@-naﬂa@i’faﬁm:
-1
?@Hl @123
XdRY S dm geddy TIN5 b, weddy T H
i
Waﬁﬁ 3 b ¢. =03
: d. fuior s
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. i.aaut‘lona

| The test statistic used to tashthemgmﬁcanoe of the adjusted coefficient of
.| multiple determination (R?)is :

(1) t-test

(2) Z-test

(3) xi-test

(4) F-test
wgiReT & g eiE (Rﬂ)%mmmmmﬁmmmmm
e HiE-ar 8 7

(1)  t-gdEer :

(2) Z-glE

1@ yr-ahEe

@) F-gimmr

‘| Mean deviation is always :

‘(1) Equal to the standard deviation
{(2)  Lessthan the standard deviation
(3) More than the standard deviation

(4) Twice of the standard deviation
1 fage B

(1) 5% fgem & auat @ 2

(2) 7% fEaa @ &9 & 8|

@) A fEe & st A 8l

() A% faee @ A B

DIURS-E-2
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Questions

The linear programming problem specified as
Max: Z = 3x, + bx, + 10x, Sub to : x, + x, +x, < 100

9x, +x,+8x,<95 xl+8x2+3xas60
2x,+7x,+%,<150  andx,> 0,x,<0andx;>0has
(1) afeasible solution (2) anoptimal solution

(3) multiple solutions (4) no solutions
W ST gwen @ &y F Pifs

Max:Z =3x, + bx, + 10x, Sub to : x, + x, + x, <100

9x, +x, +8x,<95 x, +8x, + 3x, < 60

2x, + Tx, + x, < 150 #Ax, 2 0,x, <0 x,> 08N N FHH
g

=g & & ar 2 ?

(1) % aEaed T (2) T F=TH THEN

@) T FAHE ' (4) @ g T

Given a production function @ = AL* KP; a, B > 0, increasing returns to
_ scale requires that

1) a+p=1 2 a+p=0
@) a+p>0 4 a+p>1
T I Bt R T § Q= ALS K o, B> 0 ¥R 3 g st & R o
[t i

@ a+p=0
9,0xh>1

15



2 to Gamo Theory if increased advemsmg raises costs
an revenues and the profits of both firms decline, we have a

1) _Posltlve-sum game (2) Non zero-sum game
(8) Zero-sum game (4) Negative-sum game .
W S B IR, AR R ¥ afs o @ St arE & Ter ¥ ok ANt o 3|
,Wﬁhﬁﬂ@'%;amﬁﬂﬁwa‘ﬂ? |
(1) wHEH aT W @) R g7 am m
3 g (4) THES AT W

-84, | A demand function is given q = 50-5 p. Compute the price elasticity of|
demand at p =5.

{1) -1 2) -1
3 25 4) 25
o 7T G 59 SR Rl 1 E B q=50-5p ¥ R p=>5 & q HT A B

qE F gnft ? :

o 1 @ -1
@ 2 @) -25

ihe market supply curve is p = 2+, where pandx respectively are price

@ -2
4 -8 s
.".%p Zﬂ%ﬂﬁpaﬂ'{xﬂi‘mﬁﬂmmgap 43-,%'?‘(

16




The consumption function for-an economy {6:C:=80 +0°6Y Find out MPC
(1) 0406 ) 06,04

@ 46 @) 64

wuﬁm% fe IosiiT S C =80 + 0°6Y & MPC ahimsim Fifr |
@ 0406 AR 04 - . s

@) 46 (4) 64

If f (x) = x*— 5x + 6, find £ (0)
) -5 @) 6
® 5 @) 2x-5
IR £ (x) = x® - 5x + 6, @l f (0) T FHPTI
(1 -5 2) 6
3) 5 (4) 2x-5

Find dx/dy when y = 10x
1 10 (2) 110

0.
y=10x & & dx/dy @ @I
- @ 110

(4) i ¥ A B¢ T

(4) . None of the above

17




B it hasmenic mesniuisreon Sund 48

1) 442 : (2) 9.6
(3) 9.16 (4) None of the above
7 IR 12 3 49 o T T HY
| @) 442 (2 9.5
@ 9.16 | @) m--ﬁrﬁaﬁ?ﬁﬁ
Solve the equation : 3(x—2) +5=x-4 (2—-x)—3
M 5 @ -5
@ 10 @ 12
T B B B 3(x—2)+5=x-4(2-x)-3
@ 5 @ -5
@3 10 @) 12

41.

;.ﬁ%it%irawwh‘ﬁam%qﬁmaﬁaﬁmmamﬁﬁﬁ
B A -

Trade between two countries can be useful if cost ratios of goods are :

(1) Undetermined (2) Decreasing
(3) Equal (4) Different

| @ ofeita (@ we

: i S (4)

«Code-A
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Questions

The term Euro Currency market refers to ;

(1) The international foreign exchange market

(2) The market where the borrowing and lending of currencies takes place

outside the country of issue

(3) The countries which have adopted Euro as their currency
r other currencies

(4 The market in which Euro is exchanged fo
T} T AR = T Fb R 7

(1) Sasha fRef g e
@ ﬂwaﬁﬁdﬂwmmmh,wmﬂmmﬁ%ﬂ%wﬁm

4
3 R 29 3 g0 B T g B EW A FET B
@ 7 TR P o gaet 3 R IR H SE-se - e S @

Which of the following theories suggests that firms seek to penetrate new

markets over time ?

(1) Imperfect Market Theory

B et cycle thedry

(3) Theory of Comparative Advantage

(4) None of the above
R & & B-ar R o & 6 o o & A A A § 6a9 B A

g7 : ,
V) oyt R e
(2) E @5 e

() T @ F
(4) e & & g 7€

EE mzé‘i'Ew) Code-A
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Quesﬂm

44, | Dumping refers to ;
(1) Reducing tariffs
(2) Sale of goods abroad at a lower price, below their cost and price in

bt

their home market
(3) Buying goods at low prices abroad and sel]jng at higher prices locally

Bz Al 17,
e e R
R 9

(4) Expensive goods selling for lpw prices

T@Iﬂl’cﬁ_ﬁﬂlﬂ‘i%:

6)) éﬂmwm
@ mﬁMﬁﬁ,ﬁqwﬁmmmﬁmw\ﬁﬂm

R (S)ﬁ%ﬁﬂmmﬁwmeﬂmmmqmwﬁm«m
@) e T F9 am § faw @R

International trade and domestic trade differ because of :
(1) Different government policies

(20 Immobility of production factors

(8) Trade restrictions

(4) All of the above

FRiEiY AR A B @R § R e Bren & a @
(1) R awwrd i

(2) IARA B G B A

| | ® = ey

022 (Economics)

Code-A
(19)

20



Questions
ﬁ. margin for a currency future should be maintained with the clearing

house by :

(1) The seller

(2) The buyer

(3) Either the buyer or the seller as per the agreement between them

(4) Both the buyer and the seller

?ymtmmﬂmﬂgéammmmwm
?

(1) Rar

@ wimr

@) wier @ REw & 4w gu vl & sER K @

4 @@ v Rdar a1

Which of the following statements with respect to currency option is wrong:
(1) Foreign currency - rupee option is available in India

(2) An American option can be executed on any day during its currency
(3) Put option gives the buyer the right to sell the foreign currency

(4) Call option will be used by exporters

55 R & i A Pt @ @-a wu T B 7

(1) R qm-s9q Ree wa ¥ Juerey B

(2) Fodh sftal fase @1 awal yadmaiy & doe Rt ot R Freofe R o s
(@) e oter wh i RRed qu Ao @ ol d

(4) Frafoel aro @@ fawe & aydr R ongw

21
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Questions

Govt. policy ahllmt exports and imports is called :
()] Commegqial policy (2) Fiscal policy
(3) Monetary policy (4) Finance policy
TR 3 Prafa ol eme 3 o Hf wear

(1) I iR (2) TerpdE i

3) A i @) Rw A

Which of the following is international trade ?

(1) Tm&e between countries (2) Trade between regions
(8) Trade between provinces (4) Both (2) and (3)
Rreffeg § & F-a1 IS AR 2 7

(1) 2w F 9 &=OR 2 & & 4= AR

(3) midl & d" AN (4) 3 (2) & (3)

50.

Market in which currencies buy and sell and their prices settle on is called

the
(1) International bond market

(2) International capital market
3 Foreigﬂ exchange market
(4) Eurocurrency market
ﬁwmﬁmmaﬁmgmﬁmmﬁﬁmm%@
1 el g ?

(1) g™ & aER
(2 sFaUsE geil e
(8) FRsil gz A

@ 0 0 T

22




Questions

Which of the following is a Union tax ?
(1) Corporation tax (2) Taxes on agriculture income

(8) Capitation taxes (4) Land revenues
Frfafes & & -8 ‘@9 # & 7

(1) Fm o (2) F I W A
(8) IR (@) ¥-T=E

Consider the following statements and identify the right ones

(i) Central Government does not have exclusive power to impose tax
which is not mentioned in state or concurrent list.

(11)) The constitution also provides for transferring certain tax revenue
from union list to states.

(1) () only (2) (i1)only

(3) both (4) none

frfoiee el ot e #T ol wé Fuel @ gEEm a7

() % TWHER & TH 4 F H o 1 @9 i 2 2 Rreem 1oy a1 geadt ge

¥ gwi@ T B
(i) ERYF B H oG B qY GE A T B @GR B H G TE@GE HA

(1) Fa () (2) Faa (i)
(3 ai (4) #8 7

Public authorities include :

(1) Central Government (2) Local Governments
(8) State Governments (4) All of the abqu
AR TR 3 B i ¥

T @) wriT Tt

@ T T (4) ST T
URS-EE-2022 (Economiaa(%m-A
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_Questions

mmureebalance between diffe

The methods of restoring
in a federal setup is based on :
(§)) Tax sharing

(3) Loans
wmmammammﬁgﬁmmﬁ
amia & 7

Q) T W (2) weda & A

. @ Srda

@) Grantsin Aid
(4) Allof the above

@ =1

rent governments

i e 9T

Wagner's law is related to:
(1) Publicrevenue (2) Public expenditure
(3) Publicdebt (4) Budget
3 71 P o) e # 7
(1) aEwE T

(3) wEwRD F (4) T

(2) aEd (A 2

cy is devised mainly on the basis of :
(2) Elastictax base

Sound tax pbli
(1) Maximum tax revenue
(3) Highincome elasticity  (4) High price elasticity

a’lﬂm:ﬁﬁtg@rwﬁmmwmaﬁm%?

.(1) Hftrepem FT T (2) TEER F A
@) = 9 @ (4) = Fwa @

24




The displacement effect hypothesis was formulated by

(1) Peacock and Wiseman (2) Pigou
(3) Smith (4) Musgrave
R S R R a1 O A R o ?

Q) G o A @) 97
@) Ry 4) 7ed

The zero based budgeting was adopted for the first time by

(1) India ~ (2) France
() Germany 4) USA
UEell R SR a9 g9 e g SuEEn M@ ?

(1) 3P=ar (2) wd
(8) onfHl (4) AR

Equals treated equally in taxation leads to:

(1) Vertical equity (2) Real equity
(3) Horizontal equity (4) None

S WX S Al @ @ K A 3 Fea & 7
(1) waad G5 (2) dredia® FH

(3) &t T (4) #E T

Wealth tax was abolished in :

1) 2011

(3) 2014

Feay 3 A F q A RA 7

1) 2011 @) 2012-
(4) 2015

@) 2012
4) 2015

25



‘Questions

' RBI can print currency notes up to the value of :

(1) 10,000 (2) 5,000

(3) 1,000 (@) 25,000
T PR I % & e e fie B e
(1) 10,000 (@) 5,000

(8) 1,000 (4) 25,000

. | Which among the following is not-a characteristic of stagflation ?
(1) Highinflation (2) ' Lowsgrowth

(3) Highemployment (4) Highunemployment
PR § & P Rueee # f@var 785 8 7

(1) =R Q) Fr= fmE
(8) = IR (4) = ¥

‘Which.among the following is determined independently of govt. in India ?
(1) Repo-rate (2) Reverse Repo rate

(4) All of the above

il § 4 $9-91 WRG @R 8 @aa &9 4 Fuia @ g ?

(1) /W (2) Rad W@ &

B FdI (4) T o

{(3) Bankrate

‘What is the Repo rate of India in 2020.
(1) 4 Per cent (2) 3.35 Per cent
(3) 3 Per cent (4) None of the above

2020 F IRA H W T F 8 ?
1) 4 ufesa j (2) 3.35 wiaw
@) swfwm @) I ¥ & B T

DA RS-EE-2022 (Economics)  Code-A
Yt PE)
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Questions

' Mmi’m‘ﬂawdby
@ RBI ) CLB
@ :al Ministry (4) None of the above
she A R T A A TR R ?
(2) e
(4) I7F § & B @

Which is acceptable under statutory liquidity Ratio 2
(1) Reliance shares (2) Equity shares
(3) Treasury bill (4) All of the above
¥ aiea SUA 3 ded H-A Wied § 7

(1) Redg 992 2) FEd W

() =0 e (4) IR |

The most volatile part of the organised money market is the

(2) Commercial bill market -

(1) Gilt edged market
(4) Bond market

(3) Call money market
wfed Tp AT F TR ARET A P8 ?
(1) e o= 792 (2) afifeE RE TR

(3) F& T AN (4) s "R

NBFI are registered under which act ?
(1) Companies Act 1970 (2) Companies Act 1956

(8) Companies Act 1967 (4) Companies Act 1958
NBFI faq afafam @ aga Goiigd g?

| @) #wh afafam 1970 () o s 1956

| (@) %A SRFEH 1958

@) e Sfuf 1967

27
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Questions

What is the NABARD'’s pilot project for digitization of SHG called ?

(1) E-Shakti

(2) E-Samriddhi

(3) E-Shanti

(4) E-Samraksha

@@ 0o o 3 RRwE @ e A @ qeae gRAeT B e S 7
1 aiF

@ g

(8 #-fy

(4) -

Bank credit is a credit f;'om
(1) Its share capital

(2) Itsliabilities

(3) Its securities’

(4) Cash deposits

% #fee Fe & wra & § ?
(1) R o

(2) EHH Al

(3) ot et

(4) 6 ST

PHD/URS-EE-2022 (Economics)-’CTt;de-A
5 @
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Questions

Big-mac index is based on :
(1) Official exchangerate
(2) Real effective exchange rate
(3) Nominal effective exchange rate
(4) Purchasing power parity exchange rate
for-fi% 2w e W amafa & 7
(1) snieEERS R T
(2) dwfas ywEr B &
(38) FEE ywE R &
(4) H9 I THar B T

In Harrod's model of economic growth, if warranted rate is below the natural
rate of growth then it is possible to maintain steady state growth at the

warranted rate with :
(1) Continually increasing unemployment
(2) A constant rate of unemployment

(3) Continually decreasing unemployment

(4) None of the above ;
e 3 anitfe s & Afeq IR fowm & aifed @ Mg REm A E A

qifed 3 & A R @ HAq O S G 6 @ A o
(1) MR Sedl Serm 8t ;
(2 IR F# R T Ad
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Questions "

In the context of agricultural developﬁent, the trickledown theory has
been interpreted to suggest that
(a) Growth in agriculture output without radical institutional reforms

will reduce the incidence of poverty
(b) Growth in agriculture output with radical institutional reforms will

reduce the incidence of poverty
(c) Only radical institutional reforms can reduce the incidence of poverty

(d) Only growth in agriculture output will reduce incidence of poverty
(1) Both (a) and (b) (2) Both (a) and (c)

3) (b)only (4) (d)only
gm%m&mmﬂm%wﬁ%m%Mﬁﬁ%

& s G gard @ R g e § gfe e @ e e
§ Aife ST gl 3 e 3 soed § s e @ e s
A @A i HEEFT GUX T o FT g ¥

T a9 IR A ge @ i F i e

1) & &R 7 I (2) @ X 7 A

(B %9 @) 37

Employment elasticity of growth is measured as ?

(1) Employment growth rate/GDP growth rate

(2) Employment growth rate/Population growth rate

(3) Employment growth rate/Unemployment growth rate
(4) Employment growth rate/Per capita income growth rate
fadre #t o @ # $ aw o & 7

(1) WX ghs T/ g a1

(2 W g o/ gfe &

@ W g av/AdT ghs o

@) T gfs ox /At aE ghs @

PHD/URS-EE-2022 (Economiecs) Code-A
(29)
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Code-A

Questions

Which of the following assumptions is not correct for the Lewis model of

growth ?

(1) The economy has two sectors

(2) Capitalists reinvest all their profits

(3) Rural wage is determined by marginal product of labour

(4) The supply of rural labour to modern sector is perfectly elastic
dafe & q59 e @ R Frefiega 7 & S9- aron gé T8 7

(1) orfeaen ¥ & &5 &

@ e o o R FE 3

(@) e T 4 F g IR aw FeiiRd B )

(@) ongRF & F AEfr o 3 SMyft Tf aXE @ RN B

Consider the following components of the PURA model of economic
development :

(@) Facilitate road connectivity in villages

(b) Enhancement of electricity in rural areas

(¢) Establishment of cyber cafe in villages

(d) Construction of hospital in rural areas

Which of the components given above is/are the major connectivity
formulated by the PURA model ?

(1) (a)and (d) (2) (a), (b) and (d)

(3) (a), () and (c) (@) (@), (), (c), and (d)

ftis B @ PURA dfew & Frefufad gedl ® =R &€

@ dt F wew G ;G T

g grfor &6 F Rl & dads

g Tal § EEes A% B

7 gef &S oruar # R

R RT 7T qed § / AN q/A ASA & W BT TG w220

1) @dva @ & 3IT
@ #adNE @) &9 adg

PHD/URS-EE-2022 (Economics) Code-A

(30)
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Qu,es‘.- ! S ’_—______________.___

a socialist country ?

Which of the following was
(a) Holland

(¢) China

(1) (a)and (b) only

(3) (c) and (d) only
Prefafaa § @ @-ar woEE 39 a9 ?

@ Eldve g Hifega |99

g 94 T A

(1) @ F AT 2 I T AR E
(3) %@ @ AR & (4) 3@ &1 AT T

(b) Soviet Union

(d) India
(2) (b)and (c) only
(4) (a)and (d) only

Joan Robinson’s growth model deals with

(@) Desired growth rate (b) Possible growth rate

(¢) Natural growth rate (d) Warranted growth rate

Codes :

(1) (a)and © @ ()and (d)

(3) (a)and (b) (4) (c) and (d)

S e @ e dtew feed wEf @ 7

o 3 fawE & g g9 |
g gk e @ 7 qied fEw
PE : -

(1) F¥ARE
3 sadra (@4 AR

. PHD/URS-EE-2022 (Economics) Code-A
(81

@) TIdT
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Questions

Growth of Indian agriculture has been slowed down since the adoption of|
new economic policy due to

(@) Low increase in crop yield

(b) Low or no public investment

(¢) Stagnant technology of green revolution

(d) Low retail market prices of agricultural produce

Answer this question by selecting the correct combination of codes given

below :

Codes :
(1) (a), (), (c), (d) (2) (), (©

@) (@), ), (0 @ (a), (@
#ammw%aﬁﬁﬂmigﬁﬁgﬁa’wmmaﬁ?

(&) waw I 7 #9 gia

@ ¥ 4 % et fRm @

@ R o e i

@ Y o @ g A A B g
mMWmeﬂwaﬂwmmmwm&:
T | '

@O @ @@m@ @ @ @

@ @), @@ ‘
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Questions

' | In'India, which of the following have the highest share wo the dishursement
“of credit to agriculture and allied activities 7

(1) Commercial Banks (2) Cooperative Banks

(3) Regional Rural Banks (4) Micro finance Institutions

o A gy o e arind % e wm % e 4 et 4 @ s e
wan ot ¥ 7

(1) afofops &z (2) v %%

(3) @ grfer 4% (4) BA m s

The Balanced Budget Multiplier is also known a5 -
(1) Haavelmo-Gelting Balanced Budget theorem
(2) Unit multiplier of a Balanced Budget

(38) Taxmultiplier for a Balanced Budget

(4) Government Balanced Budget multiplier
waferer aore AP & A fEw am A s w3 7
(1) wAF-AfeET wfea a9 999

(2) & dfera ae %1 @ T

3 us "o a9 % fau w7 T

(4) wwh dgfen T T

Who gave the idea of augmented poverty line ?

(2) Seventh Finance Commission

(1) V.M. Dandekar
(4) C.H.Hanumantha Rao

(3) Planning Commission
dafta whdr Ter % faar A R 7
(1) & m ada (2) awat fam amam

@) o s @) . w3, T W
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Questions

Which one of the followihg defines poverty the best :
(@) Productivity of agriculture

2) Unemployment

(3) Nutritional requirements

“@ Inequalitiesinincome
maamwammamm%?
D TN F I

(2 ForrH

() T Hod gz
@) T 7 s :

Narasimhan Committee is related to :
(1) Foreign trade sector (2) Agriculture sector

(3) Banking sector (4) Education sector
TIRFET afify Roed waif & 2

(1) fRsh R a @ &

@) I ax (4) Ben 8

05 to

When‘was the base year of all India WPI has been revised from 2004-

2011-12?
(1) May2017 < (2) May2013

(3) May 2015 (4) May2018

i A WPI 31 S af 2004-05 @ 2011-12 5 i ey 7y ?

(1) #2017 - (@) %2013
' 5" ‘ (4) #2018
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Qu‘ta;tion‘fi'r"‘ e ik S

An economy qbilievea “productive efficiency” when :

(1) The best resources are employed

(2) The total number of goods produced is greatest

(3) Goods are produced at least cost and no resources are wasted

(4) Resources are employed in their most highly valued uses

o MR (IAES A a9 WE 8 qW-

(1) wdtem daea R § )

2) IART TGl @ FW HEA qAY A B

3) mﬁamammwwﬁmm%aﬂ?ﬁémmaﬁﬁm

2l
(4) dERE B S oAl gegaN Iwry & PR e s 2

What was the population density of India in 2001 and 2011 ?
(1) 322and 385 (2) 344and 311

(3) 325and 382 (4) 302and 275

2001 3T 2011 # ARG & TGS g9 b o1 ?

(1) 3223385 (2) 344 3R 311

(3) 32537382 (4) 3023275

“Under developed countries are the slums of the world.” This statement
was given by :

(1) A. N. Cairncross (2) Colin Clark

(3) J.Bhagwati (4) Ragnar Nurkse

“gieafe 21 g 1 AR aftaal ¥ 98w R an R R ?
(1) © T Gt (2) #fe

(3) . e (4) TET T

 PHD/URS-EE-2022 (Economics) Code-A
(35)
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e sign of country's growth i :
(1) More and more industries
| @ Higher standard of living
(3) Higher per capita income

(4) More means of transport
W P R At ol @ ® 7
(1) o & st S

| @ = e &

| ® o= s o

| o--t-\- .

, Whlch oﬂthe following is not true about green accounting ?
.(1) - Green GDP is less than conventionally measured GDP
| (-2) Green GDP takes account for depleted natural resources

(3) Green GDP does not account for pollution asit is d1fﬁcult todeterm-e
damage from ambient pollution

(4) Many governments are very much mterested in extended natlona.l- 3
accounts to include the environment

{

?-;ﬁﬂmﬁh%aﬁﬁﬁwﬁf@aﬁﬁﬁa—mﬂﬁﬂﬁ%?
1) i A e & @ A e @ a3
mmmmﬂm@mmwmman
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Questions

Which of the following pairs is not correctly matched :
(1) Rekhi committee : Simplification of export and import procedures

(2 Nanmjundappa committee : Railway fare
| ® Rangarajan committee : Balance of payments

(4) Goiporia committee : Banking sector mpmvements
Frfeifes & @ S-w1 g @ gafa aé? (1
(1) & affe: Fafa sl o wfeamelt @ axdier
(2) e sl W B
@ ﬁs@ﬁmaﬁrﬁ" e @ F gar

Population replacement level of total fertility rate is :

{1):21

{2)::1.0

@) 25

4 40

G WS 3T AHEAT Hee w R?

@ 21
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He
L gy

e g - Code=A"
F ﬁm Questx_cfns o7
93, | Consider the following state‘:ﬁents with regard to ‘Make in India’
programme: ‘
@) It concentrates on 25 ipdustrieslsectogs
@ii) 100 per cent FDI has been allowed in railway infrastructure projects
Of the above, which isla_ré correct ? Answer from the codes given
below; :
(1) Both (i) and (ii) are correct
(2) Neither (i) and (ii) are correct
(3) Only (i) is correct
(4) Only (ii) is correct
B 37 AT FEHT $ 4w § e woe W REK H
@ 3T 25 a;mﬁ/asrr W a3 B
(i) @ gFwEEl- sfEr TRAsEET 100 sfasrd oF & o N A & R B
e & @ F9-a1/8 w82 ? A9 Ry g @ o v ¢
@ @G ATa@E @ TR O MAA @ W
(3) @aw (i) Wl B (1) Paw (i) T R
-94. | The relevant age group for computation of child sex-ratio :

(2) 0-4years

(1) 0-1years
(4) 0-7 years

(3) 0-6years
A RfT-arar @ o & e T o wE
@) 0-4¥@

(1) O-19=
(4) 0-79

(3) 0-64m

FE-2022 (Economics) (gat;dewA
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Questions

96. | Intellectual property rights regime is managed by :
(1) IMF (2) WTO
(8) European Union (4) SAARC
Mo dowr s aen & gl frad @ e o #
(1) e (2) fasg @i §eA
(3) dw He (4) a%
96. | In environmental economics “Herman Daly” has formulated :
(1) Step up approach (2) Space utilisation approach
(3) Ecological approach (4) Steady-state approach
qafaer oelemer § SO S 3w g R g 7
(1) Teandt gitesmo (2) ®F IEPT gfReH
@) uRfafs gRed (4) Rt o e
97. | CAPART is related with :

(1) Assisting and evaluating rural welfare programmes
(2) Computer hardware

(3) Consultant gervice qf export promotion

(4) Controlling pollution in big industries

Fur & way frad & 7
(1) meﬂaﬁmmmm

(2) Wﬂ'ﬁﬂ
(8) fofey el @1 SETEHT Ha

@ a2 agavit & s @ Rl ET

PHD/URS-EE-2022 (Economics) (Cgode-A
| _ -

)
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' Questions

(4) Eiss-frafa dadw

Question
No.
98. | ‘Hydro Carbon Vision-2025’ is associated with :
(1) Storage of petroleum products
(2) Euro-I and Euro-II
(3) Greenhouse effect
(4) None of these
BRIHET fao-2025 Rred et 2 7
(1) Wi IRl $ SR
2 T &7 gA-1I
(3) ey ya
(@) F & FK
99. | Inside Trading is related to :
(1) Share market (2) Horse racing
(3) Taxation (4) Public Expenditure
FaRe 2R fred wefyg & 7
(1) MW TOR @ T2
8 Fmm (4) wdsie =g
#100. | Which one of the following pairs is not correctly matched ?

(1) Exit-policy-Import controls

(2) Exim scrips-Export subsidy

(3) LERMS—-Rupee convertibility

(4) EPZ-Export Promtion

R 7 @ - 3 9 g T 2
(1) M Hf-smam FEE

@) dFm fera-faia i

(3) UTEHARTHTE-6YY RadH
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1. | Big-macindex isbasedon:

(1) Official exchange rate

(2) Real effective exchange rate

(3) Nominal effective exchange rate

(4) Purchasing power parity exchange rate
fr-f% g3 frm o¥ s B 7

(1) enfeerite fafmg =@

(2) drfas gl [ 2T

(8) AMHE gl fafma ax

(4) ®9 9 FHar fafFmg @

2. | InHarrod’s model of economic growth, if warranted rate is below the na 1
rate of growth then it is possible to maintain steady state growth at

warranted rate with :

(1) Continually increasing unemployment
(2) A constant rate of unemployment

(3) Continually decreasing unemployment

(49) None of the above

He 3 arts e & ded 7 AR R @ ai a3 o Rem W A F @
3ifea X & q g 1 g W A TG W T I I

(1) FMER Fedt AT &
2 AT i R 2T Erf
(3) @R frefl Sl @rf
(4) I & @ B T

mmm




on| Questions

3. | In the context of agricultural development, the trickledown theory has ;.

been interpreted to suggest that
(a) Growth in agriculture output without radical institutional reforms|
will reduce the incidence of poverty
(b) Growth in agriculture output with radical institutional reforms will
reduce the incidence of poverty
(c) Only radical institutional reforms can reduce the incidence of poverty
(d) Only growth in agriculture output will reduce incidence of poverty
(1) Both (a) and (b) (2) Both (a) and (c)
(3) (b)only (4) (d) only
gﬁﬁm%ﬁwﬁﬁ;ﬂﬁm‘%ﬁ@aﬁw@n%wﬁ%ﬁ‘rﬂl%ﬁ‘-ﬂ:#ﬂé%

o Aft e gant & e g SR § gfs e @ e e
7 Aifed derE ganl @ 9 3R ewed ¥ ghe b @ e )
q  FA A JEEE g T A e A

T %A W T A gfs @ T A B e

(1) & 37 9 2+ (2) & 3 7 A+

(3) %ad q (4) P49 7

4. | Employment elasticity of growth is measured as ?
(1) Employment growth rate/GDP growth rate
(2) Employment growth rate/Population growth rate

(3) Employment growth rate/Unemployment growth rate

(4) Employment growth rate/Per ca
fewrE @ Ao @9 # 3R A o 7

, (1) R e /M fm o
2) W e /o gf ot j
. ,,w mzﬂrwmmm@“

Pita income growth rate




LI ey i N B TE ORI

Questions - ’ y
p | y ¢

F 5. | Which of the following assumptions is not correct for the Lewis model of
growth ?

(1) The economy has two sectors

(2) Capitalists reinvest all their profits

(3) Rural wage is determined by marginal product of labour

(4) The supply of rural labour to modern sector is perfectly elastic
| dafe & qgd dred 3 fr Frefafe & & f-@ aron a@ 7@ 2 7

| (1) efegaen § & &9 €

| @ Yoy R a & GRS #a 2

@) T TR s 3 A e T e @ e g

@) omgfE & F A gn # A T e & e 2

6. | Consider the following components of the PURA model of economic
development :

(a) Facilitate road connectivity in villages
(b) Enhancement of electricity in rural areas
(¢) Establishment of cyber cafe in villages
(d) Construction of hospital in rural areas

Which of the components given above 1s/are the major connectivity
formulated by the PURA model ?

(1) (a)and (d) (2) (a), (b) and (d)
(3) (a), (b) and (¢) (4) (a), (b), (c), and (d)
%% faam 3 PURA dfea & feifafd gedl o7 REr #X

qd

A WiE # gral &% %

7 gudvr el d Aerde & i

ST R M wed # @ @ /A dted R @ we s 8/

1) @Az (2) &, a9 AT
@ @, ddAH 4) #,8 dAT

PHD/URS-EE-2022 (Economics) Code-B
3




‘7. | Which of the following was'a socialist country ?
(a) Holland (b) Soviet Union
(c) China (d) India
(1) (a) and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a) and (d) only
frfafad & @ PH-A1 GEIEE] 29 o1 ?
#  Efvs g Hifegd §9
4 H9 g ARd
(1) @@ 7 3w @ (2) Faa 9 AR @ ;
(3) %a@ g 3R (4) F9a & 3T 7

8. | Joan Robinson’s growth model deals with
(a) Desired growth rate (b) Possible growth rate
(¢) Natural growth rate (d) Warranted growth rate
Codes : i
(1) (a) and () (2) (b) and (d) {
(3) (a)and (b) (4) (c) and (d)
st e F1 [ Afed fFed deftm & 7
a3 em g gwifaa e &
g uplie e g qgifea e
e :
(1) sdR« (2 TdT
@) Fdxg @4 §dRT

JURS-EE-2022 (Economics) Code-B -

@
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Growth of Indian agriculture has been slowed down since-the adopti

new economic policy due to

(a) Low increase in crop yield

(b) Low or no public investment

(c) Stagnant technology of green revolution

(d) Low retail market prices of agricultural produce

Answer this question by selecting the correct combination of codes given

below :
Codes :
(1) (a), (b), (c), (d) 2) (), (©
3) (a), (b), (c) (4) (a), (d)

T afes Ay o F aw @ A 3 A g e R e @
(31 wEF I ° FH giG

@) FF q BT g Faw Tel

@) Fer & wifa d-

@ F I @ g 9O F B I

2 R gl g W B B T WIS

Fe
1 @)@ ®, @ 2 @, @
@) @, @, @ 4) @), @

PHD/URS-EE-2022 (Econonﬁa)'g)nde-ﬂ'- -
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Questions

are in the disb

No.
10.

i ighest sh

In India, which of the following have tht?t]:.lg !
1 1 87
credi . culture and allied activiti€
@ it Cooperative Banks

: 2
() Commercial Banks ? finance Institutions

Regional Rural Banks (4) Micro
%ﬁ%?}a%aﬁm%mm%mﬂmmaﬁam
a8 Jfes 2 7

(2) gl 4%

(1) affas §F |
(3) g andor ¥ (4) @ed fad qer

11.

Which of the following is a Union tax ” ‘
(1) Corporation tax (2) Taxes on agriculture Income
(3) Capitation taxes
Fe=faflaa § | @F-a1 @9 &1 8 ¢
(1) frm &

(3) P Y (4) 9-7ora

(4) Land revenues

(2) FMW @ W

12.

.

Consider the following statements and identify the right ones

() Central Government does not have exclusive power to impose tax
which is not mentioned in state or concurrent list.

(ii) The constitution also provides for tr ansferring certain tax revenue|

from union list to states.
(1) (i) only 2) (ii) only
(3) both (4) none
ﬁwmamﬁwhmﬁaﬁrﬂﬁmaﬁwﬁ
(i) %W%wwm#mﬁmwﬁaaﬁ%mmmm
T I 7 2
(ii) ﬁhﬂﬁ@wmﬁw@énﬁrﬂwﬁmﬂasﬁa'ﬁmm
(1) 3aw (1) (2) g9 (ii)
@) I @) B

PHD/URS-EE-2022 (Econonmeg) CodeB e o
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Public authorities include :
(1) Central Government

(2) Local Governments
(4) All of the above

(3) State Governments

e miEel § B e @

M

(1) F% @@ (2) w@HE qTE
(3) TY " (4) IWE a4
14. | The methods of restoring resource balance between different governments
in a federal setup is based on :
(1) Taxsharing (2) Grantsin Aid
(3) Loans (4) All of the above
o G qen § At g @ 49 G6EE Gqed e &1 S e e W
i 8 7
(1) | i (2) werEd ¥ EE
(3) = (4) ITUF T
15. | Wagner’s law is related to :
(1) Publicrevenue (2) Public expenditure
(8) Publicdebt (4) Budget
FFR F Fram Rrad efad @ ?
(1) st ToE (2) Tl (adwE) 39
(3) wEwE FoT (4) 1€
. - il
- PHD/URS-EE-2022 (Economics) Code-B . N
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-

-‘. : L gy o et ' i
- . -
oy MR N

16. | Sound tax policy is devised mainly on the basis of :

(1) Maximum taxrevenue (2) Elastictaxbase

(3) Highincome elasticity  (4) High price elasticity

g &7 Aif ger wy A Bod AR W R & S 8 7 |

(1) T FT Tora (2) WEER F AR . 8

3) I M W (4) I A A=
17. | The displacement effect hypothesis was formulated by : E o

(1) Peacock and Wiseman (2) Pigou .

(3) Smith (4) Musgrave

femq gare ofteeqar s & qar 41 At 7

(1) diwfs A7 s (2) "m b

3) fEg (4) EE { ;
18. | The zero based budgeting was adopted for the first time by | .. $

(1) India (2) France

(3) Germany (4) USA

Yedll @i ofi) a9 ufen fead & soamn m ?

(1) e (2) W |

(3) o (4) mRE |
19. | Equals treated equally in taxation leads to :

(1) Vertical equity (2) Real equity

(3) Horizontal equity (4) None

I WX $ Pl @ T FT AT 51 FEer & 7

(1) =aq @wal (2) e &

(3) &fter s @ 3¢ 7




20.+ Wealth tax was abolishedin :

(1) 2011 " (2) 2012
(3) 2014 (4) 2015
Ry T F F9 qTT FT Ry my ?

(1) 2011 (2) 2012
(3) 2014 (4) 2015

21.

The linear programming problem specified as

Max: Z = 3x, + 5x, + 10x,
9x, +x,+8x,<95

2x, +7x, + x, < 150

(1) afeasible solution

(3) multiple solutions

Waz i g @ =y § i

Max:Z=3xl + 6x, + 10x,
9xl+x2+8x3595

2x1+7x2+x3$ 150

Frtfofea & & &1 @ ?
(1) & Zaed goME
@) UHRE THMEH

Sub to : x, +x, + x, < 100

x, +8x, + 3x, < 60

and x, > 0, x, <0 and x, > 0 has
(2) anoptimal solution

(4) no solutions

Subto:xl+x2+xas 100
x1+8x2+3x3560
A x, > 0,x,<0 3R x,> 08T & 70

10
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No. N !

22. | Given a production function Q = AL= K%; o, p > 0, increasing T o
scale requires that
(1) a+p=1 2 a+p=0
@) a+p>0 4 at+p>1 ‘
U I o R T @ Q = ALY KP; a, B> 0 fart & FE0 HR & R o
e ¥
(1) a+p=1 2 a+p=0
3) a+p>0 4) at+tp>1

23. | According to Game Theory, if increased advertising, raises costs mor
than revenues and the profits of both firms decline, we have a .
(1) Positive-sum game (2) Non zero-sum game
(3) Zero-sum game (4) Negative-sum game
T el § oEr, ak fEeE 3 gfs a4 afts T @) gerd & ol A1 ol e
S § froae o 2, A P 8 a2 |
(1) TS I 1M (2) = A Ay
(3) S AT W (4) THTHE T A

24. | A demand function is given q = 50-5 p. Compute the price elastici a;;'
demand at p = 5. LA |
1 1 @ -1 1
(3) 25 4) -25 '

@qﬁwwmﬂmwgﬁﬁq=50—5pmmp=5ammﬁ ;
g F1 8efr ? |
1 1 2 -1
@) 25 - (4) 25

PHD/URS-EE-2022 (Economics) Code-B
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No. Questions

25. | If the market supply curve is p = 2+x, where p and x respectively are price
and supply, then what will be the producer’s surplus at p = 4, |
1 2 2) -2
3 8 4) -8
qﬁm‘m‘iﬁwp=2+x§,ﬂﬁp@?xﬂﬂi%ﬂﬂ@ﬁ%,ﬁp=4m
U 3RS F ARGy gy 2y 2
1 2 (2) -2
3) 8 (4) -8

26. | The consumption function for an economy 18 C = 80 + 0°6Y Find out MPC
and MPS.
(1) 04,06 (2) 0.6,0.4
3) 4,6 (4) 6,4
U rfaen & fau 3w @ C = 80 + 0°6Y ¥ MPC ik MPS siq #iRw |
(1) 0.4,0.6 (2) 06,04
3) 46 4) 64

27. | Iff(x) =x*> - 5x + 6, find f (0)
(1) -5 (2) 6
3) 5 (4) 2x-5
R £ (x) = x? - 5x + 6, @l £ (0) &G BT
1 -5 @) 6
@) b (4) 2x-5 | _ 4!:

PHD/URS-EE-2022 (Economics) Code-B
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28. | Find dx/dy wheny=10x =" _

1) 10 v

@ -10 (4) None of the above

99 y=10x & @ dx/dy Fid PRI

(1) 10 (2) 110

@) -10 (1) I § & B T
29. | Find the harmonic mean between 7 and 12

1) 4.42 2) 95

3) 9.16 (4) None of the above

7 AR 12 B 9 &EF 9 G o

1) 442 2) 95

3) 9.6 (1) I & & P 18
30. | Solve the equation : 3(x~2)+5=x—4(2_x)_ 3

) 5 @ -5

(3) 10 4 12

FHIHETT # & HoY - - +6=x-4(2_x)_3

4 6 2 -5

@) 10 @19
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| The first National Income calculation on a seientific-basis in-Indiawas|

carried out in the year

(1) 1947-48 (2) 1951-52

(3) 1931-32 (4) 1990-91
mﬂaﬁmwwmn@umaﬁmwﬁﬂé?
(1) 1947-48 (2) 1951-52

(3) 1931-32 (4) 1990-91

32. | Cotton yarns purchased by handioom worker is :
(1) An intermediate good (2) A consumer good
(3) A capital good (4) None of these
BYHT HHR EN @R 0 el om & 8 8§ ?
(1) U% Fegad 7% (2) TF IUNIERT aE]
(3) UE Y a% (4) T § 3 T
83. | “Inflation is always and everywhere a monetary phenomenon.” These are
the famous words of :
(1) Milton Friedman (2) Adam Smith
(3) David Ricardo (4) JMKeynes
“gmﬁh@m@wam@mm?’imﬂm“
(1) e wele (2) T |
@) M RwEl ) AW ﬁ
E S ————— T 0 6 ‘h . g - ) L, i ' .4 2 -,,““; s, bW .
k. 1) — - aU 2 LCC Wm——y. T - = : -.j:i" PR
|70 7 A - 5 e .
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quations

The concept of “laissez-faire” was the contribution of

(1) Classical economists

(2) Neo Classical economists

(3) Keynesian economists

(4) None of the above

“Irgeag B A B swETeon e & o4
(1) TCuEr] e 1
@ T TR s 11
(3) F~fIA arefare]

(4) I H | FE

35.

Which of the following is not an assumption of classical theory ?

(1) Neutrality of money

(2) Wage price flexibility

(3) Involuntary unemployment

(4) Longrun

Pt 3 & -l qoaErd) Rrr &1 aron 7 3 2
(1) T A qew . |
(2) "ol FMT ARG
(3) wAfeEs I

(4) e

15



Qu_utibns
Defects in SNA include
(1) Neglects depletion of natural capital

(2) Neglects environmental pollution

(3) Expenditure to defend the effects of pollution
(4) All of the above

SNA & 9 § Fr anfta & 7

(1) S Goft 3 719 1 I B B

(2) TEETT GNVT @ INET HAA ©

(3) WeHY & gwidl &l v & fow &Y

I

37.

38.

(4) ITF T

Quantity of money according to classical theory will determine the
(1) Saving and investment (2) National output

(3) Real wage (4) Price level
Wﬁf@@ﬂ%m@ﬂwmﬁﬁﬁﬁﬂmﬁm%?

(1) T=a AR Fag (2) TS IAQRA

(3) arwdtas A (4) T8 &R

Wage price flexibility is the contribution of which of the following
economists?

(1) J.B.Say (2) J.M. Keynes

(3) J.S.Mill (4) A.C.Pigou

Foll g e P ¥ @ R ol B A § 2

1 J. . @ F. . FF

@ . . @ T . 9

o

PHD/URS-EE-2022 (Economics) GM
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in inducement to n

According to Keynes, what causes changes
entrepreneurs ?

(1) MPC and MEI (2) MEC and MPS

(3) MEC and rate of interest (4) MPC and rate of interest |
W%Wmmﬁaﬂ%mwammww%? —
(1) & @ 7§ o 2) ¢ @ 3 oy O o : |
) w2 W W (4) ™ § g R @S T

40.

- -
In Keynesian model of income determination, autonomous investmer 7 -*,
occurs due to :

(1) Change in income (2) Change in employment

(3) Change in profit (4) Change in social welfare programme
o el @ =fgq dfeq § @ad fag fad e 8 g ?

(1) ™ 7 qRaEdd (2) TR aREdA

(3) @9 ¥ qftad= (4) aare & HAEa § qitadd

41.

Which of the following pairs is not correctly matched :
(1) Rekhi committee : Simplification of export and import procedures -

(2) Nanmjundappa committee : Railway fare g B
(3) Rangarajan committee : Balance of payments el t
(4) Goiporia committee : Banking sector improvements '

Preffafag & @ @I-a1 g™ 8l gaferd el 2 7
(1) & aff: fafd i s giket & avefid

@) e At Y '_
() TR wifd: YA AT
4) gafan affy: 3T 8§ gar

bﬁ'm—ﬂn.mwnoﬁes)(q‘rw ST

L5 o y Qi a0
i
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42. | Population replacement level of total fertility rate is :
W 21 @ 10 (@ 25 @ 40
FA SO I H TG S w7
{1y 2.1 (2) 1.0 3) 2.5 4) 40
43. | Consider the following statements with regard to ‘Make in India’

programme:
(i) It concentrates on 25 industries/sectors
(1) 100 per cent FDI has been allowed in railway infrastructure projects

Of the above, which is/are correct ? Answer from the codes given
below :

(1) Both (1) and (ii) are correct

(2) Neither (1) and (ii) are correct

(3) Only (1) 1s correct

(4) Only (1) 1s correct

U 3 3 FhEH' & GA9 F Frfaiad FE | RER Bt

(i) I8 25 IgErT /8T W e 2| |

(i) A g e aRdeel § 100 gfred we & o @ omER & ¥
o § & /A A B 7 B R T gt @ o A

(1) (@) v (i) a4 a8 &
2 Ta @) A& Gi) 98 &
() Faw (i) T8 21

(4) Faad (i) a8 B}

18



44. T'he relevant age group for computation of child sex-ratio :
(1) 0-1years (2) 0-4years
(3) 0-6years (4) 0-7years
o Rir-orquE @ T @ T qrefE o1g 6
(1) 0-1¥ () 0-4 ¥
(3) 0-6 9 (4) 0-7 @
45. | Intellectual property rights regime is managed by :
B (2) WTO
(4) SAARC

(3) European Union

MMew quer AVHR AqE F TEEE [FaF a1 HHEr Ad B
(1) HARTIE
@) g T 4) T

(2) fasg AN Heq

46.

In environmental economics “Herman Daly” has formulated -

(1) Step up approach
(3) Ecological approach
TaRT A A BT Sl Y R e oy &2

PHD/URS-EE-2022 (Economics)

(1) I=g gfesro (2) M Ign gty
(3) uifafas gReaT (4) Ry e
Code-B

(18)

W2
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(2) Space utilisation approach

(4) Steady-state approach




Qﬁeaﬂdnﬁ

CAPART is related with :

(1) Assisting and evaluating rural welfare programmes
(2) Computer hardware

(3) Consultant service of export promotion

(4) Controlling pollution in big industries

FAE F oy FFad ® ?

(1) arfior e FEwA F FEEdr S qeiE H

(2) FY EEAG

(3) Frafa gada &1 gaEsr adr

(4) &2 3@ F ygwer F FERE B

48.

‘Hydro Carbon Vision-2025' is associated with :

(1) Storage of petroleum products

(2) Euro-I and Euro-II

(3) Greenhouse effect

(4) None of these

‘TR fawr-2025 Brad weEfRE 8 ?
(1) TifeEn IRl & HSR

2 TI-1 3 gi-11

20



SO,

_No. - Questions
49. | Inside Trading is related to :
(1) Share market (2) Horse racing
(3) Taxation (4) Public Expenditure
FTaRE e Rrad defa 8 7
(1) W IR 2) 759
(3) HEN (4) TS G

50. | Which one of the following pairs is not correctly matched ?
(1) Exit-policy-Import controls
(2) Exim scrips-Export subsidy

(3) LERMS—-Rupee convertibility

(4) EPZ-Export Promtion .
Frafafea & @ @9-a1 g™ &8 gaferd =8 2 7 4
(1) F&E Sifg-emaa FEo ' u

(2) Um Rep-Frai afes
(3) UNIIHITHTH-EGAN YR

(4) ddiors-fatq Hada
51. | RBI can print currency notes up to the value of - ’ f.
(1) 10,000 (2) 5,000
3 1,000 (4) 25,000
A B I T & FLA AN B B 3 gy L 2
1) 10,000 ) 5,000
(3) 1,000 (4) 25,000

EE-2022 (Economics) Code
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52- | Which among thefollowing is not a characteristicof stagfla :
(1) High inflation @) Low growth
Frafafad 1 @ a9-d@ Reee 3 v 78 2 ?
(1) = gawfa 2) Frer fm
3) I= EUSRIES (4) I= R
53. | Which among the following is determined independently of govt. in India?
(1) Repo rate (2) Reverse Repo rate
(3) Bankrate (4) All of the above
fFreifafas § & #9-a1 9d a7 4 @d w9 @ i & @ ?
(1) WM (2) fiad W@ =X
3 & (4) ITAF TH
54. | What is the Repo rate of India in 2020.
(1) 4 Per cent (2) 3.35 Per cent
(3) 3 Per cent (4) None of the above
2020 § WRE & I E A2 7
(1) 4 sfderd (2) 3.35 wfawd
(3) 3 ufaea (4) TwdE # @ HE T
55. | Credit Policy is formulated by

2) CLB
(4) None of the above

(1) RBI
3) Financial Ministry
2Rz i Reed @ AT A o 8 7
(1) S

(3) R ==

2) dow

22
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Questions
No. — -
56. | Which is acceptable under statutory hq?ldlty Ratio ?
(1) Reliance shares (2) Equity shares
(3) Treasury bill (4) All of the above
Yo A U @ aed Br-H e 2 7
(1) Reda 991 (2) Fhad AT
(3) g9 (4) ITqF G4l

The most volatile part of the organised money market is the

57.
(2) Commercial bill market

(1) Gilt edged market
(3) Call money market

qIfST g1 AR F 7GR e A 41 8 7
(1) Pz use AqEe (2) affeE &d G

(3) I = FT (4) e AqFe

(4) Bond market

38. | NBFI are registered under which act ?
(1) Companies Act 1970 (2) Companies Act 1956

(3) Companies Act 1967 (4) Companies Act 1958
NBFI i&q stfafay & qeq oofigq & °

| N
(1) F¥91 g9 1970 (2) F+ gfafag 1956
(3) FmT Hfyfag 1967 (4) F90 sfafram 1958

59. | What is the NABARD's pilot project for digitization of SHG called ?

(1) E-Shakti (2) E-Samriddhj
(3) E-Shanti (4) E-Samrakshg
@@ﬂéﬁmm%mmﬁwmmﬂwwmz’
| (1) g-afe (2) {-ayis
I (3) #-amify (4) ¢-wom
PHD/URS-EE-2022 (Economics) Code-B
(22)
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60. | Bank credit is a credit from
(1) Itsshare capital

(@) Itsliabilities

(3) Its securities (4) Cash deposits

d% PfeT F& § o Aar 8 7
(1) g% T Yol (2) ZE@ AERAl

W (3) o ufcrgferat (4) e I

61. | The Balanced Budget Multiplier is also known as :

(1) Haavelmo-Gelting Balanced Budget theorem
(2) Unit multiplier of a Balanced Budget

(3) Tax multiplier for a Balanced Budget

(4) Government Balanced Budget multiplier
dqfera ave o F AR FFE AT A A S @ 7
(1) eEeR-AfeeT ddferd 952 5949

2) T agfed o A R T

(3) TF dgferd aofe & [T F T

(4) TG e T T

62. | Who gave the idea of augmented poverty line ?
(1) V.M. Dandekar (2) Seventh Finance Commission

(3) - Planning Commaission (4) C.H.Hanumantha Rao

daftfq Tt T @1 faEr R R ?
(1) & w7 gigH (2) dwE faw smEr

(3) AT AT (4) @ wa. ggHa W@

S

EE-2022 (Eeonomics)(ct;de-n“'
' (23 o

TS TR

24



the best :
63. | Which one of the follgcwi“il’lsﬁdaﬁ“’es poverty

(1) Productivity of agriculture

(2) Unemployment
(3) Nutritional requirements

(4) Inequalities in income
F‘Hﬂ‘ﬁeﬁmnﬂ%ﬂﬁmm@qﬁwﬁﬁm%?
(1) W # IQEHRA

(2) AT

(3) dIYT Hee AELIHAN

(4) @ T FEHE

64. | Narasimhan Committee is related to

(1) Foreign trade sector (2) Agriculture sector
(3) Banking sector (4) Education sector
Tt afufy e ddfaa 2 ¢

(1) fadsit &mr 845 (2) FH &3

(3) dfFn & (4) famm 8

65. | When was the base year of all India Wp] has been revised from 200 .

2011-12?
(1) May 2017 @ May2013
(3) May 2015 () May 2018 | ]
diee Wl WPI &1 R af 2004.05 3 2011-12 %7 wsiifye Ry I L f
(1) #2017 @ whaess :
‘l (3) w2015 (b ki
St ' a St

R ik S ﬁ-".
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g Questions
66. | An economy achieves “productive efficiency” when:
(1) The best resources are employed

(2) The total number of goods produced is greatest

(3) Goods are produced at least cost and no resources are wasted
(4) Resources are employed in their most highly valued uses

UF SNEAR IARS Al 9 WA HAl & oiE6-

| (1) HarH damed &R 2 |

(2) IR IESN & F FE gAY W 2|

(3) T BB A T AE W I o & A HE wem q4ie T aw
gl

(4) |EEA @ I9B e gega Iwd § Frafr R S 2

67. | What was the population density of India in 2001 and 2011 ?
(1) 322and 385 (2) 344and 311

(3) 325and 382 (4) 302and 275

9001 3T 2011 § A & TAGE g9 b o1 7

(1) 3223385 (2) 3443311

(3) 325 37 382 (4) 302 AR 275

) to 68. | “Under developed countries are the slums of the world.” This statement
was given by :

(1) A. N. Cairncross (2) Colin Clark

(3) J.Bhagwati (4) Ragnar Nurkse
"mﬁmﬁa%mgﬁmﬂwmgu"wmmmmwt?
(1) T Ud F&E (2) Hfe T

@) . wwEd (4) VT TR

— | PRD/URS-EE-2022 (Economics) Code-B
(25)
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.!?.-wﬂ R e
[Rues Questions — ._
. Wt-h is : s r\{. o '-:

69. | The sign of country’s 870 "
(1) More and more industries
rd of living

(2) Higher standa
(3) Higher per capita income
(4) More means of transport
v 3 R @ P #@E 7
1) e & s I

(2) I= e &

(3) I=aR g Afdd I

(4) dftgeq & sAfgE G

70.

PHD/URS-EE-2022 (Economics) Codes

Which of the following is not true about green accounting ?

(1) Green GDP is less than conventionally measured GDP

(2) Green GDP takes account for depleted natural resources
- pollution as it 1s difficult to detesl

(3) Green GDP does not account fo:
damage from ambient pollution
(4) Many governments are very much interested in extended naf

accounts to include the environment
o e & ar F Rl § @S- wd 58 2 o
(1) o7 ol aoits &9 & @ ofidi § gy 3
(2) ¥ T R I A AT HAOE B A 3

@) M SN 57w F R e et
Fraftor & gfea & | Wﬂﬁiqﬁ-&gﬂ( A% 5T A T

@ ﬁ‘mmrﬁmﬁm%mﬁ i

i

(26)
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T T B

: Questions
No.

71. | Trade between two countries can be useful if cost ratios of goods are :

(1) Undetermined (2) Decreasing

(3) Equal (4) Dafferent

A 0 3 9 AR SEH @ aFar AR agel # ar@ oUW Freflea F @
-1 8 @ ?

(1) fgiRa (2) e

(3) TAH (4) 31T

72. | The term Euro Currency market refers to ;

s (1) The international foreign exchange market

(2) The market where the borrowing and lending of currencies takes place

outside the country of issue
| (3) The countries which have adopted Euro as their currency
- (4) The market in which Euro 1s exchanged for other currencies
1 g 9@ e 9= H oA Ay B 7
(1) Sfag fadsh gar s
(2) @& AW A&l GG B I A1 A U AT, R A A a0 39 B qe} B
g
@) Fm 29t 3 g0 F w9 & w9 A SrgAmn R
: (4) & IR Pred o el & [ g & SeE-NeE R S @
|
|

| PHD/URS-EE-2022 (Economics) Code-B
27)
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‘ i i . ‘ etrate r
Which of the follomngmmw-dntmk to pen 1
markets over time ? ' ]
(1) Imperfect Market Theory

(2) Product cycle theory
(3) Theory of Comparative Advantage

(4) None of the above
Wﬁﬁam-mmmm%f?ﬁwm
g?

%mqﬂaﬂlﬁﬁmm}-

(3) TaAHH A F ST
(4) IT0Fd 7 | PiE AR

74.

Dumping refers to ;

(1) Reducing tariffs

(2) Sale of goods abroad at a lower price, below their cost and pria
their home market
(3) Buying goods at low prices abroad and selling at higher prices l¢

(4) Expensive goods selling for low prices

3 PRl 3 7 O TR e oy
MY X @ 3 -
(@) e T A R Ty T &9 I W

PHD/URS-EE-2022 (Economics) Codel
- (28)
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75¢ | International trade and domestic trade differ because-of::.

(1) Different government policies

(2) Immobility of production factors

(3) Trade restrictions

(4) All of the above

I AU SR Wy @ § e e FRer & 8 o
(1) = gl =i

(2) IERA & @l H T

(3) =AM gfcEH
(4) IudEd gl
76. | The margin for a currency future should be maintained with the:clearing
house by :
(1) The seller
(2) The buyer
(3) Either the buyer or the seller as per the agreement between them
(4) Both the buyer and the seller
@ g Afas @ for A S aeie e # 9 S e e Rrded S
g7
(1) fesbem
2 @i
() wier a1 fda # 99 g 9 & AR B T
(4) Far ol faar a0
_ (Economies) Code-B: o i S

(w =i iR A
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Questions

- 77. | Which of the following statements with respect to currency optionis¥
(1) Foreign currency - rupee option is available in India
day during its currency |

(2) An American option can be executed on any
yer the right to sell the foreign currency

(3) Put option gives the bu
(4) Call option will be used by exporters

ﬂmﬁm%mﬂhqﬁmaﬁfaam-mmw%?

(1) fRef g Raey 9wa § Iwae @

(2) wmm@mm@%wmﬁﬁmmmW
g

(3) ¢ M @iRr A RRel ga 9 a1 s A 2

(4) FEfae g #f@ fawe & 3w fFar som

78. | Govt. policy about exports and imports is called :

(1) Commercial policy (2) Fiscal policy

(3) Monetary policy
&R # fld ok smm & ar § iy seard §
(1) arforsg® if (2) TENE iy
(8) HAiftw Hify (4) fam iy

(4) Finance policy

79. | Which of the following is internationali trade ?

(1) Trade between countries (2) Trade between regions
(3) Trade between provinces (4) Both (2) angd (3)
Freifofad & @ $9-a1 ST R § 2

(1) 29 % §i9 &R (2)ﬁ%iﬁﬁ'amr(

(3) widt # &9 &ANR @ 3 (@2 ok -

PHD/URS-EE-2022 (Economics) Code
(30)

+ L -
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Market in which currencies buy and sell and their prices settle on is called

the

(1) International bond market (2) International capital market
(3) Foreign exchange market (4) Eurocurrency market

78 oI Fre g w7 A At ¥ o el I it # Frafror @ @, R
T FET A B 7 |

(1) U g TR (2) I el A

(3) fash g A (4) g0 a1 9K
81. | Ifin a distribution mean is 60, mode is 40 and the standard deviation is 10, |
then the coefficient of skewness will be :
(1) -2 (2) 2
3) —20 (4) 5
af RiEter & wieg 60 2, a5 40 3 @ AF fEe 10 B, d v & i em:
(1) -2 (2) 2
(3) -20 4) 5
82. | A component of the time series model that results in the multi-period

above-trend and below-trend behaviour of a time series 1s
(1) A trend component (2) A cyclical component
(3) A seasonal component (4) Anirregular component
Y @ dtEe &1 0 e o TTTEEy O §99 S § -9y & F-ag
A st e A 3, @ Frfiad 4 @ A ¥ ?

(1) @ iy 9% (2) T THY TTEH

(3) @ HArlt 9TF (4) & AR geF

EE-2022 (Ecbnomlcs)- Code-B TN ,,m
@D
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h:-l‘ Questions

. given data der:
Given the two regmssiomlinumm' R

Y=4+0.4X, X=_2+0.9Y

Then coefficient of correlation between X and Y will be

(1) 04 (2) 0.5

3) 0.6 4) 0.8
ﬁqmmﬁmﬁaﬂqﬁwm?@mﬁﬂﬁwﬁﬂ%%:
Y =4 + 0.4X, X=-2+09Y

@ X X Y # d= degey & o e

(1) 04 (2) 05

(3) 06 (4) 0.8

84.

In a multiple regression with three independent variables, the reg

coefficients are to be tested. Which test would be used ?
(1) Z test (2) F test

(3) x*test (4) t test

33
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Questions i

Which one of the following is correct ?

(1) Median - Mode = 2/3 (Mean —Maode)
(2) Median — Mode = 1/4 (Mean — Mode)
(3) Median — Mode = 1/3 (Mean — Mode)
(4) Median — Mode = 3/4 (Mean — Mode)
Frafafed & @ S9-a1 g & 2

(1) e — ages = 2/3 (AT — 9EAE)

(2) wifeas — 95w = 1/4 (AT — FEF)

(3) W — 9g% = 1/3 (17 — agw)

(4) TfeaeT — agas = 3/4 (7 - ELESED)

86.

Two dice are thrown and the sums of the numbers on the faces up are
obtained. The probability of this sum being 2 is

(1) 1/6 (2) 1/36 (3) 1/8 (4) 2/36
2 UE G& A 2 AR HW A AR o Al deme & drm wre Atr B39 aer @
2 B o mifasar a1 enft ?

(1) 1/6 (2) 1/36 (3) 1/8 (4) 2/36

87.

Given Mean = 30, Standard deviation = 5.

Find the value of C.V.

(1) -16-67% (2) 16.67%

(3) 60.01% (4) 18.67%

ure 30, @ 9% fagad 5 Rar @ & @ CV & 99 s $iftig)

(1) -16-67% (2) 16.67%

(8) 60.01% (4) 18.67%

PHD/URS-EE-2022 (Economies) Code-B
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‘No. Q““um
: ' "3 . in List-II :
8. I r,,= 0.3, match the items in List-I with the items 1n Lis
| ist-11
List-1 Lis 0
i_ ._1 to -+ 1 a. .‘ t f
ii. Correlation coefficient between —X and Y b. Limits 0. _
correlation il
coefficient
iii. The Square of Correlation Coefficient c. —-03 .
iv. Coefficient of correlation between —X and =Y d. Coefficient of * '.
Determination . .
1 i 11 v o
(1) a b c d .
(2) b c d a
3) ¢ a b d
(4) d a b C - .
M r, =03, B A G-I A Fgell B g1 # awgedt § fra N oo
@'I HC:EFT'II
s = i o a. 03 |
ii. —XGﬁTYEﬁiﬂaWﬁIW b. weddy s &
R M ‘
-ul. x aﬂ.{. Y % ﬁa . s . C. - 0.3
V. = = HeqaY T d _
i ii 1ii v
(1) a b ¢ d
@b o "
@ ¢ a b d
(4) d a b ¢
PHD/URS-EE-2022 (Economics) Code.B
M‘i‘ ‘.. .
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Questions l

89.

The test statistic used to test the significance of the adjusted coefficient of

multiple determination (R?) is :
(1) t-test

(2) Z-test

(3) x> test

(4) F-test

Tt 3 wERRE e (R2) & Wew @ TOEY A & (e SErT R I an
qieer Pe-ar & 7
(1)  t-gdreo

(2) Z-gdremr

(3)  x2-gdrerer
(4) F-udEor

Mean deviation is always :

(1) Equal to the standard deviation
(2) Lessthan the standard deviation
(3) More than the standard deviation
(4) Twice of the standard deviation
AT e gadm

(1) "% fFaad & auet el 2|

@) W% fEed @ F4 a2

@) % fae @ i 8 g

(4) wFF fagaq @ A A

PHD/URS-EE-2022 (Economics) Code-B
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] - - i m -lt'm not chs
Although a monopolist MMW s

higher price than his equilibrium price because :

(1) Higher price means fall in total revenue 1

! _

(2) Higher price can be charged only on that segment of firm’s demandj|
curve which is price inelastic, implying that the marginal revenue wi

‘No.
91.

be negative
It is inconsistent with profit maximization goal under monopoly

3

C)
Tl @ R ST T @ A o e agd @k @ AT o WEe T

At Fa & da 2, FifE

(1) I FWd H qqa9 Fa qrm 4 freEe 2

(2) mﬁ%qmaaa%%ﬂamﬂmqwaa?ﬁqamaﬂﬁwﬁmvﬂm%ﬁ
e 2| s ot B & dra o F#omers &t |

(3) & THMYHR & qBd @ SURANET FE F A STETT B

(4) S@EA i gEfE € W@ SR e RO e

Marginal cost will be negative over the relevant range of output

92. | IfX1=£(P1, P2) and X2 =f(P1, P2), then the two commodities are substitute ,

if;

(1) (8X1/8P2) <0, (6X2/6P1) >0 (2) (3X1/5P2) >0, (5X2/5P1) <0

(@) (6X1/6P2) >0, (6X2/8P1) >0 (4) (3X1/5P2) <0, (5X2/5P1) <0 |
R X1 =£(P1, P2) 3T X2 = f(P1, P2) &, & @ T U gEY I gfoeng= St 8 ?
e |
(1) (®X1/6P2) <0, (6X2/8P1) >0 (2) (5X1/5P2) >0, (8X2/5P1) <0
@) (X1/5P2) >0, (3X2/8P1) >0 (4) (8X1/5P2) <0, (6X2/3P1) <0

L. i s

3
+% ol
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Under monopolistic competition. the . :
| e cross-elasticity of .demand for the|
product of a firm will be : d

(1) Perfectly elastic (2) Perfectly inelastic

(3) Highly elastic (4) Highly inelastic
WW%W@W%WﬂW#M@HNM?
(1) yoioar deer (2) qofdar IseEER
() IF dreRR (4) i Id=Er

94. | The Samuelson-Holt formula provides a measure of :
(1) Consumer’s equilibrium  (2) Consumer's surplus
(3) Elasticity of demand (4) Marginal utility
SIUERA-2leT G Rhes W SeE e € 7
(1) IUdle & dge (2) IUHIERT F A€y
(3) HFT & @™ (4) dmr= Iugife

95. | The revealed preference approach to the derivation of indifference curve :

(1) Assumes stability over time of an observed person’s tastes

(2) Assumes that all people have identical tastes
(3) Relies on repeated observations of the market behaviour of a single

person
(4) Is correctly described by both (1) and (3)

S aF ) g @ R she Tl e

(1) ﬁfﬁaaﬁﬂﬁaﬁaﬁwmwaﬁﬁmwm3
Frenfta &

) et apif @ @ s @ A W

3) @aﬁa%mm$m—mmwmmt

@ aﬂ-(l)m(a)maﬂifrﬂﬂ"

Mm (Boonomies) Code-B
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Questions
oflabour suggestﬂ that .

No.

—

Backward-bending supply curve f labour declines
(1) When wage rate increases, supply © il

. ly of labour 1 _
(2) When wage rate declines, SUPPLY d labour supply

labour supply decreasg Y

ly increases and af

. . - - ab

When wage rate increases, initially 1
i 1 ate
some point with the increase 11 wage rate,

mwmﬁmgﬂgmgﬁﬁﬂﬂﬁﬁ%%:m%
(1) o7 wogh & agdt & @ 9w @ angd F P

2) o T T ged & @ g A gl 9% A &
3) #ugh & IR o omyfd F dra A WA T 2

o qorglt & F gfs @ a4 ongid &9 8 St 2

(4) @ Tod @ o€ § gfs A B A oo F am oyl A gfs At B olR g

|

|

f
‘,

1

Who among the following is not associated with the collective bargain
by the labour with the management ?

(1) R.G. Lipsey

| (2) Neil W. Chamberlain

(3) Carl M. Stevens
{ (4) Bevars D. Mabry
ﬁ%@aﬁﬁﬁaa&m%mmmmmmﬁg@ﬁ%?
(1) ar. st o
(2) i 3=y, Imdtq

N

3 I . &g
(4) 399 2. Ah

PHD/URS-EE-2022 (Economics) Code-B
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(2) When rise j 1
P, T1se in the incomes of poor is neutralized by inflation
én unemployment Increases alongwith inflation

(4) When peo :
ple getting unemplo
——— ployment allowance do not want to work

AL LR

(3) 59 RIS 3 A R qgdt
4) m%ﬁwﬁwmﬁaﬁeﬂimﬁma@%

99.

Producer surplus is measured as :

(1) Area under the demand curve above market price

(2) Entire area under the supply curve
(3) Area under the demand curve above the supply curve
(4) Area above the supply curve up to the market price
SR s # e ave A o 8 7

1) wwawmﬁiﬁﬂﬁﬂ

@ g @ @ I T o

@) o am & I @ AT I A

) wiﬂﬁﬁﬂ“iﬁ“%wmh

- PHD/URS-EE-2022 (Econ"mi"”m

-+
.'.
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Questions’

The consumer’s gain from the Wﬁ‘ .
deman

puiumishisherw
d is high and the g '

100‘
The own price elasticity of market

elasticity of market supply 18 high - - ; |
ce elasticity of market demand is high anc the prig

0}

(2) The own pri
elasticity of market supply is low |
nd is low and the price

(3) The own price elasticity of market dema

elasticity of market supply is high
(4) The own price elasticity of market demand is low and the prige
elasticity of market supply is low ‘
T W A FA QS F A qd S e 2, 9 |
1) waﬁmﬁmm@am%aﬂ?waﬁa@aﬂm

A 2
(2) T @ H F S B A o B o g eyl @ P dg d

(3) R BN AT B ST B @it B T A oSy B e e o

:
@) T 3 1 o i A A T 4 oy A e
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SET-“2”

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)
(Ph.D/URS-EE-Jan.-2022) 10139

ECONOMICS 8. No__..5)
Code |
Time : 1% Hours Total Questions : 100 Max. Marks : 100
Roll No. (in figure) (in words)
Name : Father’'s Name :
Mother’'s Name : Date of Examination :
(Signature of the candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION!/
INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.
1. All questions are compulsory.

2. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be registered
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by
the candidate.

4. Question Booklet along with answer key of all the A,B,C and D code will be got
uploaded on the university website after the conduct of Entrance Examination.
In case there is any discrepancy in the Question Booklet/Answer Key, the same
may be brought to the notice of the Controller of Examinations in writing/through
E-Mail within 24 hours of uploading the same on the University Website.
Thereafter, no complaint in any case, will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers-
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

T. Isjﬁe only Black or Blue BALL POINT PEN of good quality in the OMR Answer-
eet.

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION.
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(1) Undetermined (2) Decreasing
(3) Equal (4) biﬁ'erent

am*mwmﬁamamm@mmmmﬂnni
P-a1 & @ ? |
(1) sFeifE (2) wEm

3) = (4) 3

——— e s

The term Euro Currency market refers to :

(1) The international foreign exchange market

(2) The market where the borrowing and lending of currencies takes place ?

outside the country of 1z3gue

(3) The countries whuch have adonted Euro as their currency #
P
|

(4) The market in which Euro is exchanged for other currencies
T 9 R 9= F o w7
(1) St st qer o

(2) 98 AW & I F I A AT IUR A, Y@ A FTA AN 24 S T e

(5l

y

50

. - Bl
o

2

e——

S ———
e e e e, ol

3) Rm A 3 70 B avh @ d w9 A o &
@) & Tor Pl = gl @ MY qX @ ARE-TEE R o

) ko
EE-2022 ‘E““"""”W sy SROE
2 -5 L



Questions

No.

Which of the following theories suggests that firms seek to penetrate new|
markets over time ?

(1) Imperfect Market Theory

(2) Product cycle theory

(3) Theory of Comparative Advantage
(4) None of the above

Frfofea & & Ha-a1 Ry gara 2 5 o gwg & @ 90 aEd & 939 ST 9red
g?

(1) It INR R

(2) IR % e

@) T A F e
4) I0E & F 3K

Dumping refers to :
(1) Reducing tariffs
(2) Sale of goods abroad at a lower price, below their cost and price in

their home market
(3) Buying goods at low prices abroad and selling at higher prices locally

(4) Expensive goods selling for low prices

g & awed 2
(1) °f% &7 e
@ mﬂmma‘a,ﬂqmﬂmmmﬁmwhﬂaﬂm

&) mamm«mmmmmwﬁmwm
4) Fom ww = aw F o w Ry

PHD/URS-EE-2022 (Economics) Code-C
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hﬁ‘# \

International trade and domestlc trade differ becauﬂ;éf ; A
(1) Different government policies e
(2) Immobility of production factors :
(3) Trade restrictions

(4) All of the above

FRISHT AR 3R Wy @R # o fr wel @ @ R

(1) R gl i - {
(2) JERA F A 3 AR
(3) MR gfdEy

(4) IWH gt _

2

The margin for a currency future should be maintained with the clearing}

house by :

(1) The seller

(2) The buyer

(3) Either the buyer or the seller as per the agreement between them
(4) Both the buyer and the seller d
wgmﬂﬁm%mqﬁﬂﬁmﬁmqa%mmmmwm

37

(1) R ot el
@ @her e
@) @R o1 Rda 3 9 g TRl & JER B & s ""‘"f
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No. Questions

7. | Which of the following statements with respect to currency option is

(1) Foreign currency - rupee option is available in India
(2) An American option can be executed on any day during its currency

(3) Put option gives the buyer the right to sell the foreign currency
(4)‘ Call option will be used by exporters

T RT3 dey & Feafofed & @ A9-ar 9 e @ 2

(1) R ge1-59 R wva F gueer 2

2) mmm#mm%mmamm&qmm

2
@) 3¢ AT @R A R @ =3 w1 a3 2
4) ﬁmﬁmmﬁmmwﬁvﬁmm

8. | Govt. policy about exports and imports is called :

(1) Commercial policy (2) Fiscal policy
(3) Monetary policy (4) Finance policy
TR B Al R o 3 A § iy seard @

(1) afrfes Hify (2) T Hify
(3) dfzw Hfy (4) 9 Hfy

9. | Which of the following is international trade ?
(1) Trade between countries (2) Trade between regions

(3) Trade between provinces (4) Both (2) and (3)
Frtfefee # & B-a1 srwisfiy am 2 2

(1) it 3 ¥ amr (2) & 3 fia amr
(3 widt & g s @) A (2) i (3)




No.

10.

Market in which currencies buy and sell and their prmuﬁ&lnihﬁ al
the

(1) International bond market

(2) International capital market

(3) Foreign exchange market

(4) Eurocurrency market

38 I Rred ga0 @id 7 3 AR ¥ A wef o et w Pk @ g,

T FET A 8 ? 4
(1) s i @ @) s gl TER
@) st gz I (4) g0 Fa1 T :

| 4

11.

Tf in a distribution mean is 60, mode is 40 and the standard deviation is 10, _ *
then the coefficient of skewness will be : ‘ 1
(1 -2 (2) 2 |
@) —20 4) 5 :
IR faeeer § 71 60 B, 35w 40 & 37 A e 10 E, @ R & e |
(1 -2 (2) 2 ‘

(3) -20 4) 5

- ——

12.

A component of the time series model that results in the multi-period|
above-trend and below-trend behaviour of a time series is
(1) A trend component (2) A cyclical component
(3) A seasonal component (4) An irregular component .
T S A O 1 e Gy o A e $ 99 $ S|
mﬁ—mwm%ﬁﬁwﬁﬁaﬂﬁawmt? |
(1) @ wf o< (2 @ T TS
(3 @ Al ©TF  (4) @ AT 9
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‘W‘-“‘:\?ﬁj?-l-;- =T .- &

: o Quentions
13. | Given the two regression lines estimated from given data as under :
Y=4+0.4X, X=-2+0.9Y
Then coefficient of correlation between X and Y will be
(1) 04 @) 0.5
3) 06 4) 0.8
mwmﬁﬂ'ﬂlﬁaammﬁﬂﬁaﬁﬁﬁﬁi
Y=4+0.4X, X=-2+0.9Y
M X IR Y # a9 wwea a1 im dm
1) 04 @) 0
3 06 (4) 0.8
14. | In a multiple regression with three ndependent variables, the regression

coefficients are to be tested. Which test would be used ?
(1) Z test (2) F test
(3) x*test (4) t test
mmaﬂmagmﬂnﬁimmﬂwﬁmﬁsmmélmﬂﬁ
R e a1 v Rear s 7
(1) Z vleor (2) F gl

| @ pvowr @) t Tl

, . .

PHD/URS-EE-2022 (Economics) Code.C
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Which one of the following is correct ? :

(1) Median — Mode = 2/3 (Mean - Modn) o ¢ i |
(2) Median — Mode = 1/4 (Mean — Mode)

(3) Median — Mode = 1/3 (Mean — Mode)

(4) Median — Mode = 3/4 (Mean — Mode) ' :
Frefafea & @ #9-w @8 8 ? : | 8
(1) SR — a5 = 2/3 (A — qgH) ’ 'ﬁi

(2) WIEAF - SEAE = 1/4 (A — TGAD)
(3) Miead — Fge = 1/3 (A — IgAH)
(4) e — GEHF = 3/4 (ATH — TGAD)

16.

Two dice are thrown and the sums of the numbers on the faces up are|
obtained. The probability of this sum being 2is

1) 1/6 (2) 1/36 (3) 18 4 236
I B A O lvwfrmmﬁmmﬁiﬂﬁﬂmﬂmtlmi\ﬂ% :

2 B9 & miawar = BFf ?
(1) 1/6 (2) 1/36 3) 1/8 (4) 236

17.

Given Mean = 30, Standard deviation = 5.
Find the value of C.V.
(1) -16-67% (2) 16.67%

(3) 60.01% (4) 18.67%

o 30, @ 9FF fAEad 5 R T & @ CV & AW & Sl
(2) 16.67%

(4) 18.67%

1) -16-67%
(3) 60.01%




| ma
" No. ,
- 18. Ifrv = 0.3, match the items in List-I with the items in List-II :
List-1 List-1I

i =1to+1 a. O..3 .

ii. Correlation coefficient between —X and Y b. Limits o.f
correlation
coefficient

iii. The Square of Correlation Coefficient c. -03

iv. Coefficient of correlation between —X and Y  d. Coefficient of
Determination

1 1 11 v

(1) a b c d

2 b c d a

@) c a b d

(4) d a b (

r

M r, =03, 2@ G-I A Fwged F gElAT A awgelt A faw
g1 -1l
a.

i -18+1 0.3
ii. -X#RY? & geaay i b. ueqey e
HmH

ili. HEHEY TTH F c. -0.3

iv. -X-Y& §m Feday 1% d. FERe e
1 1 111 v

(1) a b d

@ b - d a

3 c a b d

4 d a b c




19.

The test statistic Mmmmmdmmw
multiple determination (R?) is : ,

(1) t-test

(2) Z-test

(3) y>-test

(4) F-test
agﬁuhw%mr&rﬁamm’)%mwwﬂmm%mmmmm

qiteo] HE-a1 8 7
(1)  t-adem
(2) Z-TUe0

i:'
{
;
L

20

e e

Mean deviation is always :
(1) Equal to the standard deviation

(2) l.essthan the standard deviation

(3) More than the standard deviation

)

(4) Twice of the standard deviation

(2) 9% fqae 4 49 2 8|
(3) "% faaem & afds & )
(4) A% fraas @ Qg @ 8y

PHD/URS-EE-2022 (Economics) Code-C
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¥ =
ST
py &

Although a monopolist can charge any price he likes, it does not
higher price than his equilibrium price because :

No.
21.

(1) Higher price means fall in total revenue A
nt of firm’s demand|

(2) Higher price can be charged only on that segme
plying that the marginal revenue will|

curve which is price inelastic, im
be negative

It is inconsistent with profit maximization goal under monopoly
ative over the relevant range of output

(3)
(4) Marginal cost will be neg

m@@mmmmﬁmrmmmm%mm@qm

s FHa A8 aar 2, F4aliE
(1) T FHd F e o Arm F frEe @

dreer &1 Rragr ot & B dwrg smm woTe® Al

(3) TE UFIEN & a1 A SEaWE o5 § 9 A
(4) TERA F mate G oo dme e wmes et

o - 1

= i P and X9 =B POy ¢ el o !
22. | IfX1=£(P1, P2) and X2 = {(P1, P2), then the two commodities are substitutes

if :
(1) (6X1/6P2) <0, (8X2/5P1) >0 (2) (3X1/5P2) >0, (5X2/5P1) <0

!
!
f

(3) (6X1/6P2) >0, (6X2/6P1) >0 4) (6X118P2) <0, (5X2/8P1) <0
o TR T

o TIC T T A e M{

(1) (6XV5P2) <0, (BX2/8P1) >0 (2) (BX1/5P2) >0, (5X2/5P1) <0 |

(8) (6X1/6P2)>0, (8X2/6P1) >0 (4) (5X1/6P2) <q GX25P1) <0

PHD/URS-EE-2022 (Economics) Code-C
(10)
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No.

238. | Under monopolistic competition, the cross elasticiiy of demand for the
product of a firm will be :
(1) Perfectly elastic (2) Perfectly inelastic_
(3) Highly elastic (4) Highly inelastic
WWWW%m@m%maﬁmﬂmmWM?
(1) yofaar @eRR (2) o ECIEER
(3) IF WEar (4) Tfes e
24. | The Samuelson-Holt formula provides a measure of:
(1) Consumer’s equilibrium  (2) Consumer's surplus
(3) Elasticity of demand (4) Marginal utility
FueEa-gte @ RS W0 R F 8 7
(1) IYHEET F G (2) Iqdigr H AU
(3) =M F (4) dmra I
925. | The revealed preference approach to the derivation of indifference curve :

(1) Assumes stability over time of an observed person’s tastes

(2) Assumes that all people have identical tastes

(3) Relies on repeated observations of the market behaviour of a single

person
(4) Is correctly described by both (1) and (3)

e 3% #1 gt & e afma g
(1) ifem afdl & s @ o Rt 83 @ g W oM 8
(2) @it @it & @9 B F A W srid @

(3) U A & AT AAER & AR-A e W PR ST 8

@) A (1) A (3) g gd I | bl B

.PH_DIURS—EE-2022 (Economics) Code-C
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Questions

No.
26.

Backward-bending supply curve of labour suggests that
(1) When wage rate increases, supply of labour declines

(2) When wage rate declines, supply of labour increases

(3) There is no relationship between wage rate and labour supply
(4) When wage rate increases, initially labour supply increases and af

some point with the increase in wage rate, labour supply dec
T H W A S g g g AR

(1) o9 T X e 2 @ 5w @ o A fgEe ot 2

(2) W@ Fogl o qedt ¥ A o9 F At @ A 3

3) qa’gﬁwaﬁ'{auanqﬁ@mq"”wwqﬁ%
) 9 AeIgdl @t &7 § gfs adl 2 ) e mmgﬁ-iﬁqi%?ﬁﬁ%eﬂ?@

% qugdt W F gfs B e 4w ;I,sg's«'-*- F4 2l St 2| .1

27.

Who among the following is not assceiated with the collective bargaining|

by the labour with the managemen:

s EE. -
]

(1) R.G. Lapsey R
(2) Neil W. Chamberlain R |
(3) Carl M. Stevens

(4) Bevars D. Mabry
Wﬂﬁﬁmmﬂ%mummm%mﬁﬁaqﬂa?
(1) & st o
2 o sy, At

13



No.
28. | Select the correct situation which defines ‘welfare trap’: 4 4
(1) When population in an economy continues to remain poor even after|

increase in nominal income

(2) When rise in the incomes of poor is neutralized by inflation

(3) When unemployment increases alongwith inflation
When people getting unemployment allowance do not want to work

4)
anymore

30 T2 Rl & 9ga 3 S Fe d9 H REie S R .
(1) 59 OF spfeqqe § s, e 9E F gfe @ 9w f The o wh d
(2) & Thel H g F e ERERT & gwEds & ol R

(3) 4 FaHfa & & AT qedl @

(4) 9 AT T T aH AW FH A FEN AR B

29. | Producer surplus is measured as :

(1) Area under the demand curve above market price

(2) Entire area under the supply curve

/ (3) Area under the demand curve above the supply curve
(4) Area above the supply curve up to the market price

JeE Afudy & fE awe qg o R ?

(1) 9K 49 & 39T 4 &% & A9 1 4 |

(2) sy a% % @ gu & : -

() yfd aF & IW F AW IF B G A

(4) IV J9 7% YT % S IW F 4

PHD/URS-EE-2022 (Economics) Code-C
e ‘ ' A8 -
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30. | The consumer’s gain from the imposition of a price ceiling is higher w!
(1) The own price elasticity of market demand is high and i pn

elasticity of market supply is hlgh
The own price elasticity of market demand is high and the p

elasticity of market supply is low
(3) The own price elasticity of market demand is low and the pri .‘?‘

elasticity of market supply is high
The own price elasticity of market demand is low and the price|

elasticity of market supply is low

| G A AT A A v & @ qd A A 8, I
(1) Wﬁmﬁmmﬁﬁam%@?wﬁw{ﬁﬂﬁmaﬁ_

e &
(2) M F A F A B A= afes & ol TeK omgfRl A A AT ®
®) ;Tmﬁmwmmmaw%@rmaﬁmﬁaﬁmmm'
(4) Wqﬁmﬂﬁiﬁwa&m:ﬁamﬁﬁﬁwﬁm@#maﬂam

1
o o
cel|

\

@

4

The Balanced Budget Multiplier is also known as L
(1) Haavelmo-Gelting Balanced Budget theorem

.
————
B

(2) Unit multiplier of a Balanced Budget
(3) Tax multiplier for a Balanced Budget | :
(4) Government Balanced Budget multiplier |
8T 3 TF & MR AW A A o @ o
(1) eReR-AeEn qqfera aoe g

(2) T G 9 N g

(3) @ wfod F9ie @ fyw av T

4) T HgfoE T

PHD/URS-EE-2022 (Economics) Code-C
' (14

x - , -
T TSy (e & § 4 " - s
B e b S il e T L el e il e it )
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No. Qus— |
32. | Who gave thoidoaofaugmeﬁl:'od'povlortyline? ‘ |

(1) V.M. Dandekar (2) Seventh Finance Commission k-
(3) Planning Commission  (4) C.H.Hanumantha Rao 8
daffa o Y & Rew R Rar 7 '
(1) & w aRew 2 @l R s | ¥
(3) d s (4) &. . s -3

33. | Which one of the following defines poverty the best : b .
(1) Productivity of agriculture a0

(2) Unemployment

S Y -t

(3) Nutritional requirements

-

(4) Inequalities in income

7 § 8 #9 ™et  gataw w0 & ofraifvd g 2 7
(1) Ffa #1 Ieewa

(2) AW

(3) T HaH savaHa

(4) @ § FEqHd

34. | Narasimhan Committee is related to

(1) Foreign trade sector (2) Agriculture sector

(3) Banking sector (4) Education sector
Tiered wftfy e gafm 2 2
(1) fadsh amm a @) FW & ¥
@ W i @ fr i .
PHD/URS-EE-2022 (Economics) Code-C ey
i
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No.

revised from 2004

35.

. been
When was the base year of all India WP has

2011-12?

(1) May 2017
(3) May 2015
afae W WPI & o ¥ 2004-06 & 2011-
(1) 52017
(3) #2015

(2) May 2013

12 %a Ganted B = ?

(4) w§2018

36.

‘ . . i » R
I An economy achieves “productive efficiency when :

(1) The best resources are employed

(2) The total number of goods produced is greatest

(3) Goods are produced at least cost and no resources are wasted
(4) Resources are employed in their most highly valued uses

UF FIHTE] TURE AT’ a9 O Fd 2 Aa-

| (1) ®EEY G e 2

(2) e T # FW A 998 [ 2
3) T T T AW W I B A o a9 qaiE T8 ol
3 | 1

4) w;r#%rmmmwmwﬁﬁﬁﬁrﬁaﬁmmﬁl

317.

(3) 3253382 @ 3028275

What was the population density of India in 2001 and 2011 ?
(1) 322and 385 (2) 344and 311
(3) 325and 382 (4) 302and 275
2001 3T 2011 ﬂmwmﬁwmmm?
(1) 3223385 @ 344dha)

EE-2022 (Eﬂononﬁc.)(:“._c .

17



e
.':1

L

‘-

88. | “Under developed mwﬁ-Md# |
was given by : P .
| (1) A. N. Cairncross () Colin Clark " 3
| (3) J.Bhagwati ~ (4) Ragnar Nurkse g
j “ It 29 3T F A aRea B 9 Fu ed s Rt T ¥ 7 "’.‘-& :
(1) TG Fgsra (2) Ffem Fo>
/ (3) . wEdt (4) T T8 .

/ 39. | The sign of country’s growth is :
(1) More and more industries (2) Higher standard of living

: (3) Higher per capita income (4) More means of transport
(‘ 29 % R A Rl @ 2

| (1) afE | arfes I (2) I=A ST wW

‘ (3) I 9fq K 39 (4) wREe & st e

40. | Which of the following is not true about green accounting ?
(1) Green GDP is less than conventionally measured GDP

! (2) Green GDP takes account for depleted natural resources
! (3) Green GDP does not account for pollution as it is difficult to determine

damage from ambient pollution
Many governments are very much interested in extended national

4)
accounts to include the environment

i gt 3 an d fefafad & § S9-a1 adt 98 R ?
(1) #= e ool = & 9t 7 Hidd q a9 B
(2) &d w9 IR ugfos daeEt @ ad ¥
3) mmmﬂ%mhﬁmaﬁ%mm(m)miwq
| Frefeor & g 2 ;_\.
B @ #mmﬁmmsmmmm#mmm

[ PHD/URS-EE-2022 (Economics) Code-C
a7n .
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Questions
41. | RBI can print currency notes up to the value of :
(1) 10,000 (2) 5,000
3) 1,000 (4) 25,000
SIS B e 7% & wt A A B F www ¥ 7
(1) 10,000 (2) 5,000
(3) 1,000 (4) 25,000
42. | Which among the following is not a characteristic of stagflation ?
(1) High inflation (2) Low growth
(3) High employment (4) High unemployment
ﬁ"iﬁiﬁﬁﬁﬁiﬁ??ﬂmmﬂﬁﬁﬁwﬁ%?
(1) 3= Peregify (2) = fawg
3) F= A (4) = e
43. | Which among the following is determined independently of govt. in India ?
(1) Repo rate (2) Reverse Repo rate
(3) Bank rate (4) All of the above
ﬁwﬁ@aﬁaﬁq*mwméwﬁawﬁwm%?
(1) e (2) Rad W ez
(3) % & (4) o qe |
44. | What is the Repo rate of India in 2020.
(1) 4 Per cent (2) 3.35 Per cent ‘
(3) 3 Per cent (4) None of the above
2020 ¥ WA & W @ F7q 2 7
(1) 4 vt (2) 3.35 wfwm
| (3) 3 uftwm

@) I & A 9

PHD/URS-EE-2022 (Economics) Code-C
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Questions

41. | RBI can print currency notes up to the value of :
(1) 10,000 (2) 5,000
(3) 1,000 (4) 25,000
AT B o 7% @ e AT R Bie FT T L 2
(1) 10,000 (2) 5,000
(3) 1,000 (4) 25,000
42. | Which among the following is not a characteristic of stagflation ?
(1) High inflation (2) Low growth
(3) High employment (4) High unemployment
m%@ﬁﬂ@#{-ﬁ%&ﬁﬁﬁﬁwﬁ%?
(1) = gergify (2) M= fawm
(3) T= AR (4) T= I
43. | Which among the following is determined independently of govt. in India ?
(1) Repo rate {2) Reverse Repo rate
(3) Bankrate (4) All of the above
Frfafed & & #M-81 97 a0 § @d =7 Pl a2
1 e (2) NEd W@ =
(3) & & (4) I el
44. | What is the Repo rate of India in 2020,
(1) 4 Per cent (2) 3.35 Per cent
(3) 3 Per cent (4) None of the above
2020 ¥ ARG H W LR ?
(1) 4 9w (2) 3.35 wftwr
@) 3 shwE (9 I # ¥ B A

PHD/URS-EE-2022 (Economics) Code-O
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Questions

No. 7
49. | What is the NABARD's pilot project for

(1) E-Shakti

digitization of SHG called ? 1

(2) E-Samriddhi
(3) E-Shanti
(4) E-Samraksha

50. | Bank credit is a credit from
(1) Itsshare capital

(2) Itsliabilities

(3) Its securities

(4) Cash deposits

4% #fee F& @ oq & 8 ?

SHD/URS-EB-2022 (Economics) Code-C
(20)
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The linear prograniming problem Speciﬁed as
Sub to : x, + x, + x, < 100
x, + 8x, + 3x, 560

and x, 2 0, x, <0 and x;> 0 has i
(2) anoptimal solution

(4) no solutions

Max : Z = 3x, + bx, + 10"3
9x, +x, + 8x, <95

2Jv:1 + 7x2 +X, < 150

(1) a feasible solution

(3) multiple solutions
e g guen @ w9 F ffds

Ma;-;:Z=3xl+5x2+10x3 Subto:x]+x2+x3S100
9x1+x2+8x3s95 X, +8x2+3x3S60

A x > 0, x, <03 x,> 08 FFH

?xl + ’Tx2 +x, = 150

HHTE
Frfaflgd & @ a1 8 7
(1) % Zgerd g9 (2) TF T FHEH
(3) uHIfgEd o™ (4) R qEN &
52. | Given a production function Q = AL®* K?; a, B > 0, increasing returns to

scale requires that
(1) a+p=1 (2) a+p=0
3) a+p>0 4) a+tp>1
T I B Ry T 2 Q=ALKP; o, p> 0 I 3 953 uRiew @ AT AREE
37 '
() a+p=1 @ a+p=0
(3) a+|_3:{0_, @ a+p>1

PHD/URS-EE-2022 (Economics) Code-C
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Ne. vertising, raises coste g
53. | According to Game Theory: if incr;ased : :ecline, we have a ‘
’ £ both firm
than revenues and the profits 0 sum game

Non zero-
o 0 tenmrne
wm%m,aﬁmmﬂqﬁwﬁag*?m | '
S % Prome o 8, A P F & F0 A .
(1) s @ g am
@) o @ (4) FCRH AT

p. Compute the price elasticity

54. | A demand function is given q = 50-5
demand at p = 5.
1) 1 (2) -1
3) 25 4) -25
T AT G 30 G B T 2 B q=50-5p 3E AW p=>5 & ¢ Wy N
o 41 8rft ?
@ 1 @ -1
3) 25 (4) -25

55.

Ifthe market supply curve is p = 2+x, where p and x respectively are i
and supply, then what will be the producer’s surplus at p =4 .

e @ -2

23
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The consuﬁ:pu'on f\mctlonforan economy is G ,
and MPS. s
(1) 0.4,06 i (2) 06,04
(3) 46 (4) 64
oF T & [ ITErT B C = 80+0°6Y%MPC6@|‘(MPSmm
(1) 0.4,0.6 2) 0.6,0.4
(3) 46 4) 64
57. | Iff (x) = x* — 5x + 6, find f (0) , . N
1) -5 2) 6 |
@) 5 4) 2x-5 g
iz f(x) = x? — 5x + 6, dl £ (0) T FAC 9
| 1) -5 2) 6
' 3) 5 (4) 2x-5

58. | Find dx/dy wheny = 10x

(1) 10 (2) 110

@) -10 (4) None of the above

9 y = 10x & @ dx/dy 1 e

(1) 10 2 1/10 b

@ -10 (4) Swiw A A 9 @ - o
PHD/URS-EE—2022 (Economics) Code-C
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No. Questions
59. | Find the harmonic mean between 7 and 12
(1) 442 (2 96
@) 9.16 (4) None of the above
7 iR 12 3 &9 s A A BT
(1) 442 @) 9.5
3) 9.16 ) Srdaa & @ 2 T8

60. | Solve the equation: 3(x—2) +5=x-4(2-x)—3
1 5 (2) -5
(3) 10 (4) 12
HHIEOT F B T - 3(x—2)+5=x-4(2-%x)—3

(1) 5 (2) -5

(3) 10 (4)

61. | Big-mac index is based on :

(1) Official exchange rate

(2) Real effective exchange rate

(3) Nominal effective exchange rate

(4) Purchasing power parity exchange rate

ferr-8% g3 FE W oM & 2

(1) FrERS PR T (2) e T Rife o
@) T gl ffrm (g 4 AR T R o

PHD/URS-EE-2022 (Economics) Seiet
(24)
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No. ' Q“m
62. InHarrodsmodel of economic growth, ﬁwamntadntemﬁ al|
rate of growth then it is possible to maintain steady state lrowth at thn f
warranted rate with : 349
(1) Continually increasing unemployment
(2) A constant rate of unemployment ' ' ' ‘

(3) Continually decreasing unemployment | i
(4) None of the above . :
e 3 ails R 3 dfeq § az R 3 aifvd @ s fEm @ 37 8 @
i & & A faem F Haq & aA @ 6 gd @ o ¢
(1) AR dgedt aermd 2t (2) Fermd # R & @

(3) @mar e 9w et (4) Judea d @ P8 T8l i

63. | In the context of agricultural development, the trickledown theory has

been interpreted to suggest that
(a) Growth in agriculture output without radical institutional reforms
will reduce the incidence of poverty
(b) Growth in agriculture output with radical institutional reforms will
reduce the incidence of poverty
(c) Only radical institutional reforms can reduce the incidence of poverty

' (d) Only growth in agriculture output will reduce incidence of poverty

| (1) Both (a) and (b) (2) Both (a) and (c)

| (3) (b)only (4) (d) only

\ B e @ ded  Gberered fasr @1 amen 98 geE 39 @ R 3 e A H R
f%

| difvs gera gart & & g g # gfe Tl @ F B
| g e wRrEE gl & AW Y oaRd § g Thd @ s
( g %aq e G garR T # FH R a6 2

T %a9 MY I & g @ The F i e
(1) & 3R T 3t 2) & 3k | I
(3) %A (4)%:

PHD/URS-EE-2022 (Eoonom:lcs) (;Jaode-c
)
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Questions

No. _
64. | Employment elasticity of growth is measured as ?

(1) Employment growth rate/GDP growth rate

(2) Employment growth rate/Population growth rate

(3) Employment growth rate/Unemployment growth rate

(4 Employment growth rate/Per capita income growth rate |
R i A5 A B FF Far o @ 7

(1) W e /oA e @

(2) TR e @ /omEE afe &

() TR 3 /AN gha ax

(4) TR 3fa X/ wfvaaf o gfs &

65. | Which of the following assumptions is not correct for the Lewis model
growth ?

(1) The economy has two sectors

(2) Capitalists reinvest all their profits

(3) Rural wage is determined by marginal product of labour

(4) The supply of rural labour to modern sector is perfectly elastic
4 & qE ed & e Freifoan 3 @ Bl arem w8 B 2

(1) foraen & & & &

(2) YolufRT 99 AN & gARRY F@

(3) I TGN AW D W I a0 R B o 2

@) m-m#mmﬁm@mgmal

27



Consider the following conji)onent- of the P{
development : | T
(a) Facilitate road connectivity in villages
(b) Enhancement of electricity in rural areas
(c) Establishment of cyber cafe in villages
(d) Construction of hospital in rural areas
Which of the components given above is/are the major connec
formulated by the PURA model ?

(1) (a)and (d) (2) (a), (b) and (d)

(3) (a), (b) and (c) (4) (a), (b), (c), and (d)
s frF & PURA wizs & Prefffaa wedt © fEm &t
#  TEt ¥ wEEH U B G G

g guvr & § R &1 Hadd

g Tat § gay &% 1w

g aefr &= § T &

597 o U oge & @ 3 a1/ Atz E daT & g gde 881
1) &3 (2) o, TAR

(4) #, 9 7AT

3 - .-._.

‘. ‘ﬁi_‘:ﬁ,v’-‘ —

(3) #, g3

67.

Which of the following was a socialist country ? - %
(a) Holland (b) Soviet Union ' 1
(c) China (d) India

(1) (a)and (b)only (2) (b) and (c) only
(3) (c) and (d) only (4) (a)and (d) only i 4
Preiifag § @ @1 GaoER 29 9 ? '

B s NG

¥ v § Gfagd & ;
C R .
(1) a9 & A @) @@ AH
(3) ¥aw @ AT @ A A —

' (Eoonomi@ : 2 L igv C raoR -

" -
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No.
68. | Joan Robinson’s growth model deals with
(a) Desired growth rate (b) Possible growth rate
(c) Natural growth rate (d) Warranted growth rate s i
Codes :
(1) (a) and (c)
(2) (b)and (d)
(3) (a) and (b)
(4) (c) and (d)
St fawa &1 fas Aise fFad wafag 8 7
7 ghed faem T G909 B o
9 ugfis fawe & T aida BeEm ot
FE
(1) ara
(2 IRz
@) FIARag
@ "dRzg .H
PHD/URS-EE-2022 (Economics) &""C

29



|

Growth of Indian agriculture has been slowed down sine
new economic policy due to
(a) Low increase in crop yield

(b) Low or no public investment

(c) Stagnant technology of green revolution

(d) Low retail market prices of agricultural produce

Answer this question by selecting the correct combination of codes given

below :

Codes :

(1) (a). (b), (¢), (d) (2) (b), (¢)
(3) (a). (b), (c) 4) (a), (d)

SN Y ST Y S P i e e
(HA) &H ITA ¥ g H—T

@) 9 q FF qdatE [Haa TE

@) Ruz &f@ Fwia e

(%) Y 9T F GO &R ¥ %9 I

4R R Mo @El F= dhET F TG B 39 G B IW &

%
(1) @), @, @), @ (2) @), @
@) @), @, @ 4) &), ®

PHD/URS-EE-2022 (Economics) Code-C
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Questions

m.m

70. | InIndia, which of the following have the highest share in the
of credit to agriculture and allied activities ?
(1) Commercial Banks (2 Cooperative Banks
(3) Regional Rural Banks (4) Micro finance Institutions
Wﬁ@ﬁ?mﬁanﬁﬁﬁﬁ%fmm%mﬁﬁ-ﬂmﬂ%m
qaq s B ?
(1) affas §% 2) weFd ¥
(3) &g anfor % (4) T e we
71. | Which of the following pairs is not correctly matched : ,

(1) Rekhi committee : Simplification of export and import procedures *

/

(2) Nanmjundappa committee : Railway fare

(3) Rangarajan committee : Balance of payments

(4) Goiporia committee : Banking sector improvements
Frefafra & @ 9-a1 g o€ g T8 2 7

(1) i wfuf: Fafa ot s Rl & aeie
(2) FrmdEe afafa: Yd e

(3) T W e e

() A aff: W @ A o

31



3 PO B T
72. | Population replacement level of total fertility rate is :
1 21 2 1.0 3) 25 4 40
A O T H TEEAT G w7 R g ?
1 21 @ 10 @) 25 @) 40 i
78. | Consider the following statements with regard to ‘Make in India’
programme;
(1) It concentrates on 25 industries/sectors
' (i) 100 per cent FDI has been allowed in railway infrastructure projects
; Of the above, which is/are correct ? Answer from the codes given
below :
| (1) Both (i) and (ii) are correct
(2) Neither (1) and (11) are correct
(3) Only (1) is correct
(4) Only (1) 1s correct

(1)
(11)

M
@)
@)
| @

Y z9 g FEad’ & da9 § Feafafed Fa ® fEr #0

gz 25 A /A W AhET B

ord gieardl g gt 3 100 giawd o6 @ o A FHia & ® B
JrE § @ F-ara wd 22 7 i Ruoe gd @ W R

(i) 3T (i) & A2

Ta @) ofica ) a9 g

Fad (i) 9e1 2|

P9 (i) qEl 2| ‘
-

PHD/URS-EE-2022 (Economics) Code-C
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m& Questions
74. | The relevant age group for computation of child sex-Tafios
(1) 0-1years (2) 0O-4years
(3) 0-6years (4) 0-7years
a1 RiT-suE & e @ foe g g ' e
(1) 0-19= (2) 0-4 9wl
(3) 0-67E (4) 0-7 9
75. | Intellectual property rights regime is managed by :
i (1) IMF (2) WTO
! (3) European Union (4) SAARC
!a‘}ﬁﬁrgqﬂaafwamwmnﬁmm%mﬁwm%: L
;i (1) Uy, (2) [a99 R 989 1
: (3) ZIYEm & (4) q |
76. | In environmental economics “Herman Daly” has formulated -
(1) Step up approach (2) Space utilisation approach
(3) Ecological approach (4) Steady-state approach
WaiaR SN § e Sl A F gEE Ry & 2
(1) v=rd gRes (2) ®F IR gl
(@) uiRReRvs gRed (4) R s gRemr

33



77. | CAPART is related with :

(1) Assisting and evaluating rural welfare programmes
(2) Computer hardware

(3) Consultant service of export promotion

(4) Controlling pollution in big industries

Fq? H HIY PR & 7

(1) T Feaer SEsnl @ qeraar o gedied

(2) FY BRI

(3) fafa da=9 1 aenes ga

(4) a2 I F ugwer & R

78.

‘Hydro Carbon Vision-2025' is associated with :

(1) Storage of petroleum products
(2) Euro-I and Euro-II

(3) Greenhouse effect

(4) None of these

FRRFE fa-2025 [Gad ddfed 8 ?
(1) ifegy IRl @1 98

(2) 741 3 ga-11

(3) #ErEE yWE

4) ¥ & # T

- PHD/URS-EE-2022 (Economics)(;lsgdeo(} -
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No.
79.

Inside Trading is related to: e .
- (2) Ro

(1) Share market ( - .

(3) Taxation (4) Public Expendi

ZaEs e fpad dafdd g7 :

(1) W CISIES (2) ggﬂg

(4) adEs Y

(3) WEH

80.

g hed ?
Which one of the following pairs is not correctly matc

(1) Exit-policy-Import controls

(2) Exim scrips-Export subsidy

(3) LERMS-Rupee convertibility

(4) EPZ-Export Promtion

P & & d-a1 g @8 qife T ¥ 7
(1) e f-smaa e

(2) oFm fera-fra afed

(3) UAEHANTATH-59AT Gftadigen

(4) Finiz-fraid dadq

81.

The first National Income calculation on g scientific basis in India
carried out in the year

(1) 1947-48 (2) 1951-52

(3) 1931-32 (4) 1990.91
mﬂhﬁﬁwwqﬁﬂmmaﬁm;ﬁqﬁﬁ ?
(1) 1947-48 @) 1951.59

(3) 1931-32
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. Questions ‘“" e
82. Lhets 7 |
gmnltmﬁpuchmdbyhandloommhrir o
) Anintermediate good  (2) A consum '8004
o A er
capital good (4) None of these |
ml PITI BR @R T G o gy @y ¥ 2
((3)) %’ma?ﬁm@ (2) uF Iy agg L
& G 7 (4) T & B 7 i
83.

“Inflation i |
n 1s always and everywhere a monetary phenomenon.” These are
the famous words of -

(1) Milton Friedman (2) Adam Smith

(4) J M Keynes '
HRTERI BRI AT 2 S wF A 9o ¥ A it v e ¥ ? 4
(1) e wizds |

(2) wen fE ’% \
(3) =fas frat (4) & T & |

(3) David Ricardo

|
|

|
|

84.

The concept of “laissez-faire” was the contribution of

(1) Classical economists (2) Neo Classical economists

(3) Keynesian economists (4) None of the above
“Wﬂﬁ%”éﬁwmmﬁﬂm?

(1) rgqardl s | r
@ a werEr! S

(3) @i el
@) ovdem § @ #E T

n—— -
I T iy S e S
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85. | Which ofthefoﬂowingianotmmﬁmofmm?
(1) Neutrality of money '
(2) Wage price flexibility

(3 Involuntary unemployment

(4) Longrun

Frfifed # & 9-@ qoqar frer 1 aeen T8 & 7

(1) 1 & qeEa

(2) worgll HHd T

(3) orifss e

(4) dE

;

—

86. | Defects in SNA include

(1) Neglects depletion of natural capital

(2) Neglects environmental pollution
(3) Expenditure to defend the effects of pollution
(4) All of the above
SNA & 2t 7 1 it & ?
(1) Wl ot % W @ 3 Far @
(2) AT ST A I Fw
(3) WM 3 9E A W P R g
@ o

e T S
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87.

Qmwﬁmmmmhdm&mmnmh 3
(1) Savingand i Investment  (2) National output

3) Real wage (4) Price level .
"W‘mm%%ﬂﬂﬁm#mmﬁﬂmmn. |
(1) 99 3T PRy ) TN IR vl #
() faF gegh 4) T & j
88. | Wage price flexibility is the contribution of which of the follow
economists?
(1) J.B.Say (2) J.M. Keynes
(3) J.8S.Mill (4) A.C. Pigou
FAgll qed oy frefatad § & e odarelt & dree 2 ?
(1) & 1. 3 (2) F. M.
(3) o. ug. fm (4) ©. €. g
89. | According to Keynes, what causes changes in inducement to invest by

entrepreneurs ?

(1) MPC and MEI
(3) MEC and rate of interest (4) MPC and rate of interest

WQW@mmﬁ%ﬂ%mmﬁmwwwt?

1) w G @i
@ WM
@ widdATX
@ w @@ I A

(2) MEC and MPS

ZE_2022 (Econ w@(g',""c'
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No. | Questions {
90. | In Keynesian model of income determination, autonomous

occurs due to :
(2) Change in employment

(4) Changein social welfare programmes

(1) Change in income
(3) Change in profit
o Prafeor @ dwfa dtew # e Faa R e g @ 7

(1) 3 7 oftads (2) TR & wREEA

@) @ § qRadT (4) T Fq FEwA & uRad

91. | Which of the following is a Union tax ?
(2) Taxes on agriculture income

(1) Corporation tax

(3) Capitation taxes (4) Land revenues

|
| Preffed & & -1 F w2 7

| (1) Frmr 2) FW I\ W K
{(J) I FT (4) 9-ToTE
f

|

92. | Consider the following statements and identify the right ones

(1) Central Government does not have exclusive power to impose tax
which is not mentioned in state or concurrent list.

(11) The constitution also provides for transferring certain tax revenue

from union list to states.

(1) () only (2) (1) only

(3) both (4) none

| Frfafad #o W ER X 3R 88 FE @ wewm a5y

| @) %W%qmmmﬁmqammw%mwmmw_

¥ I e 2 |
" Wﬁgmmﬁm@ﬁm@'mﬁﬁﬁmwmmmtu
(1) % (i) 2) 3 (i)
@ ) ¢ T

PHD/URS-EE-2022 (Economics) Code-C
(38)
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Public authorities incluge . .

(1) Central Government
(3) State Governments
AR

(1) %am

(2) = g
3) 1™
o B (4) I g

(@ Local Goveramients
(4) All of the abOVG

94. | The methods of :
in a federal Set;}?i‘:’:ﬂ’i (!i'E:rcln‘lrce balance between different governments| -
i m . 2 o .
E.}: 'llsx sharing (2) Grantsin Aid
o o i ‘ (4) All of the above
Nl ﬂgfawﬁma'wﬁ%mmﬁﬂ@ammﬂmmqt
(1) S (2) aeae ¥ SrgEH
3) F7 (4) IYAF Tl
95. | Wagner's law is related to :
(1) Publicrevenue (2) Public expenditure
(3) Public debt (4) Budget
Y & fgm fHad waft| & 7
() aEE T (2) W@ (FEwrE) 79
(3) ardHEE FT (4) o€
96. | Sound tax poliéy’ is devised mainly on the basis of :

(2) Elastic tax base

(1) Maximum tax revenue
(4) High price elasticity

(3) Highincome elasticity
e &9 @ R T R @ e ¥ 7

g & i

2) @wﬁm
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97. | The displacement effect hypothesis was formulated by :
(1) Peacock and Wiseman ~ (2) Pigou

(3) Smith (4) Musgrave |
e g ofwee ez o) @’ R ? |
(1) dtE ol ads (2) 9
(3) fow 4) g8a

98. | The zero based budgeting was adopted for the first time by &
(1) India (2) France }-
(3) Germany (4) USA ' i
Yool A SR A qwfen fred amr s mr ?
(1) szf=ar (2) ®E
(3) St (4) mafta

99. | Equals treated equally in taxation leads to :

(1) Vertical equity (2) Real equity
(3) Horizontal equity (4) None 4
T & & ARl 8 @9 & T T S 7 _
(1) d<ad d9ar (2) IFafes wwan |
(3) 8o g 4) i

100. | Wealth tax was abolished in : 1
(1) 2011 2) 2012 '
(3) 2014 (4) 2015
i T B B TG H RAT wy ?
(1) 2011 (2) 2012
(3) 2014 4) 2015

ay e
riailes o ¥
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(DO NOT OPEN THIB QUESTION BOOKLETT BEPORE TIME OR UNTIL YOU ARE ASKED T0 DO 80)
(Ph.D/IURS-EE~Jan.~2022)

D ECONOMICS  wmal 212

Code

Time 1 1% Hours Totnl Questions : 100 ' Max. Marks 1 100
Roll No, (in figure) (in words)
Niino | I'uthor's Namé | LT
Maother's Namo | Dato of Examination :

o ———

o e

(Hignature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/
INSTRUCTIONS BEFORE STARTING THE QUESTION PA PER.
1. Allquostions are compulsory,

9 The candidates must roturn the Quostion book-let as well as OMN
answer-sheet to the Invigilator concerned bofore leaving the Fxa mination Hals,
fuiling which n cane of uso of unfair-menns / mis-hehaviour will be rogintered
against him / hor, in nddition to lodging of an I'IR with the police, Further the
answor-shoot of such a candidato will not bo evaluated,

Koeping in view the transparency of the oxnmination system, carbonless OMR

Hhoot in provided to the candidate so that a copy of OMR 8heot may be kept by
the eandidute.

4. Question Booklet along with answor koy of all the A, B,C and D code will be got
uploaded on the university wobsite after the conduct of Entrance KExamination,
[ ciao thoro is any discrepancy in the Question Booklet/Answer Koy, the same
may be brought to the notice of the Controller of Exnminations in writing/through
[0.Mnil within 24 hours of uploading the snmo on the University Website,
"Theronfter, no complaint in any case, will be connidered,

6. 'The candidato MUST NO'T do any rough work or writing in tho OMIX Answer-
Bheot, Rough work, if any, may bo done in the question bool-let iteelf, Answers
MUST NOT be ticked in the Quostion book-let.

6. There will be no nogative marking. Each correct answer will he awarded
ono full mark, Cutting, erasing, overwriting and more than ono answer
in OMR Answer-Sheot will be troated awn incorrect answer, ’

7. Useonly Black or Blue BALL POINT PEN of good quality in the OMR Answor-

Shoot, ' : . ;
8, BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN BUPPLIED CORRECT AND COMPLETIE
BOOK-LIIT, COMPLAI NTS, I ANY, REGARDING MISPRINTING E1C, WILL
NOT BE ENTERTAINED 50 MINUTES AFTER S8TARTING OF THE

~ EXAMINATION.
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Code-D

RQuestion R
No. Questions

1. | The first National Income calculation on a scientific basis in India was

carried out in the year :

(1) 1947-48 (2) 1951-52
(3) 1931-32 - (4) 1990-91

WA 7 39S MR W GEd TS o 3 o % @ T 7
(1) 1947-48 (2) 1951-52 '
(3) 1931-32 .(4) 1990-91

2. | Cotton yarns purchased by handloom worker is :

(1) An intermediate good (2) A consumer good

(3) A capital good (4) None of these
BIHTE FITIT SR G4 ¢ gt o 74 &g § 2

(1) T FeFal a5 (2) TF I9WIET I
(8) TF P awg (4) ¥ @ 5 T

3. | “Inflation is always and everywhere a monetary phenomenon.” These are

the famous words of :

(1) Milton Friedman (2) Adam Smith
(3) David Ricardo (4) JM Keynes

“mETRf g WX BT T U HikE uew 27 ¥ uive 9= Rl § 7

(1) P sied () A R |
@ s R @Imdw E

|
|
> e

B g A e GRS el | ISR




Code-D

s s n

- e—— r-- S ——— -
b""‘ Questions

IS

T P -._a.-_._._._ s 2,

4. | The concept of "laisserfaire” was the contribution of

(1) Classical economista (2) Neo Classical econom:m
) Keynesian economists (4) None of the above
e A AR A srmaron R & o 7

(1) qoygad) opefamet (2) T qrgqErd sdared

@) ®hw redameh (4) Ivdw # A B 7@

6. | Which of the following is not an assumption of classical theory ?
(1) Neutrality of money (2) Wage price flexibility

3) Involuntary unemployment (4) Long run

Frafifea 7 @ S soguad Rremr 6t aron 7@ 8 ?

(1) o0 # qewd - (2) Toight Fiwa el

@) omfwes R (4) S

6. | Defects in SNA include

(1) Neglects depletion of natural capital

(2) Neglects environmental pollution

(3) Expenditure to defend the effects of pollution
(4) All of the above ‘

SNA # QW Y qm b 87

(1) s Gt & o @ e H@ d

(2) ateror s aven e & :

@ s &yt A B R a

) IqE qu

PHDIURS-EE-2022 (Economics) (Gode-D
2)




Code-D

Questions

7. | Quantity of money according to classical theory will determine the
(1) Savingand investment (2) National output
) Real wage (4) Price level
W@M%m@ﬁmhm%mwﬁﬁ?
(1) =9 3k faw @) TS SR
@) ITEEF T @) 39w
8. | Wage price flexibility is the contribution of which of the following
economists?
(1) J.B.Say (2) J.M. Keynes
(3) J.S.Mill (4) A.C.Pigou
T T T e ¥ 3 B et a7 v & 2
@® 3 @3 @) . w. 3
@) . w. i @) w . dig
9. | 2 ling to Keynes, what causes changes in inducement to invest by

@) @ R

entrepreneurs ?
(1) MPC and MEI (2) MEC and MPS

(8) MEC and rate of interest (4) MPC and rate of interest
P & AN AP a1 R 3 R s & oRadw @ w2
(1) g &R o

@ widdRwdow -

@) w ¢ & ot am f :




S S -

Questions

In Keynesian model of income determination, aulonomous investmsnt

occurs due to

(1) Change in income (2) Change in exaployment

(3) Change in profit (4) Change in social welfare programinss
maﬁm%mwﬂwrtrﬂh'amh:#mmt?

(1) @ # Jfrad (2) T & ofraka

(3) @a # oftad (4) TG w4 A

11.

Which of the following pairs is not correctly matched :

(1) Rekhi committee : Simplification of export and import procedures
(2) Nanmjundappa committee : Railway fare

(3) Rangarajan committee : Balance of payments

(4) Goiporia committee : Banking sector improvements

Frafafaa # & #F-a1 39 98 gk w3 7

(1) T aff: Pt A saE sl B A
(2) “FEE wEhE: e B

(3) TEF i JEE e

(4) Wi afEf: 1 A F gaw

PHD/URS-EE-2022 (Economics) Code-D
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Code-D

Questions

Population replacement level of total fertility rate is :

1) 21 2 1.0 @) 25 4) 40

i ¥
14
gh

13.

i

1) 21 @ 1.0 (3) 25 4) 4.0

Consider the following statements with regard to ‘Make in India’
programme:

(® It concentrates on 25 industries/sectors

() 100 per cent FDI has been allowed in railway infrastructure projects
Of the above, which 1s/are correct ? Answer from the codes given
below :

(1) Both (i) and (ii) are correct

(2) Neither (i) and (11) are correct

(3) Only (i) is correct '

(4) Only (ii) is correct

T 1 IR I F wey A Frefiied w0 W RER 5

() Iz 25 IR/ W B B .

(i) ¥ R s aRAsFET & 100 s oF ¥ o @ erR & w8
e A & #-a1/8 @8 2/2 ? AR R e get @ I difv

(1) () R i) w0 E

@ 8 @) T E @) T

() FW () 7 2

(4) %3 (i) w8 B

0 )
et
b

PHD/URS-EE-2022 (Economics) Gode-D
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Code-D

'._“"—-‘---—-—-7—-—'- e s ——— . el A S it e ,ﬁ
Q“h“:“““? Questions

LN
e o ————————— S —— ——

14. | The relevant age group for computation of child sex-ratio :

(1) 0-1years (2) 0-4years

3) 0-6years (4) 0-7years

[ami%m-—agmaaﬁwr%mmﬂﬁiﬁmw:
1) 0-13m 2) 0-4 9

@) 0-68& (4) 0-79m@

15. | Intellectual property rights regime is managed by :

(1) IMF (2) WTO

(3) European Union (4) SAARC

e a1 ARER g F yEe Reed R e e ©
(1) T (@) R =R e
3) FudE =g @

16. | In environmental economics “Herman Daly” has formulated :

(1) Step up approach (2) Space utilisation approach
(3) Ecological approach (4) Steady-state approach
T A T A S ¥ T G B § 2 |

(1) =i ?ﬁm - (2) ®F I g

(3) iR gfedm @) R s g

PHD/URS-EE-2022 (Economics) CodeD
®)
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No.

Queostions

17.

CAPART & related with :

(1) Assisting and evaluating rural welfare programmos
(2) Computer hardware

(3) Consultant service of export promotion

(4)  Controlling pollution in big industries

FUR H deY R R 2

(1) T ST S A weer oft qwi S

(2) FYS LI

@) Fafa dads A gaeer a1

(4) I3 I@ T gguvr F Pl s

e et e —————

Code-D

e ——

18. | ‘Hydro Carbon Vision-2025’ is associated with

(1) Storage of petroleum products

(2) Euro-l and Euro-II

(3) Greenhouse effect

(4) None of these ;

‘BESIFE fa5-2026 HEd Hafta ® ?

(1) e IRl & q8RT (2) -1 @ik R-II

(3) Hered w9E @ T & Ff 7
19. | Inside Trading is related to:

(2) Horse racing

(1) Share market _
(4) Public Expenditure

(3) Taxation

FEe 3T Rpad defta & ?

(1) O T @) 9595

@) A (4) wriE o

PHD/URS-EE—2022 (Economics) Code-D
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No,

S —— g e e W —

Questions

20.

N ' . ?
Which one of the following pairs is not correctly matched

(1)  Exit-policy-Import controls

(2) Exim scrips-Export subsidy

(3) LERMS-Rupee convertibility

(4) EPZ-Export Promtion

ot Q - g ) g Tl 8 ?
(1) Fem Ai-omr FEe

@) R Re-frate wfeed

(B) TR 59l SR

(@) $oSe-fa gad|

21.

Big-mac index is based on :

(1) Official exchange rate

(2) Real effective exchange rate

(3) Nominal effective exchange rate

(4) Purchasing power parity exchange rate
B $390 R W SR R 7

(1) onfeEwi fafeE X

(2) arifas gl i @

(3) mwrE we Rf

(4) wa o g i

SHURS-EE-2022 (Boonomics) Goded

10



Code-D

lQuestion

No.
RS sh e

32,

Questions

e e e ————

In Harrod's model of economic growth, if warranted rate is bolow the natural

rate of growth then it s posaible to mantain ntondy atate growth at the
warranted rate with

(1) Continually mnereasing unomployment
(2 A constant rate of unemployment

(3 Continually decreasing unemployment
) None of the above

8T & ol R & aifed WV gf i @l aifod av wipfoe famm a7 3 49 ¥ @
ARSI D N R B gag W A @ A gewa w ICEE
(1) @R qedl AQnd et () AW 94 fere @
(@) FII PR QAerd R (1) w7 A B

23.

In the context of agricultural development, the trickledown theory has
been interpreted to suggest that

(@) Growth in agriculture output without radical institutional reforms
will reduce the incidence of poverty

(b) Growth in agriculture output with radical institutional reforms will
reduce the incidence of poverty

(¢) Only radical institutional reforms can reduce the incidence of poverty
(d) Only growth in agriculture output will reduce incidence of poverty
(1) Both (a) and (b) (2) Both (a) and (c)

(3) (b)only (4) (d) only

BN fem 3 e 7 Rawse R i aren 1@ goe 23 & w3 fog @t ® &
fep

@ Afers dera gt & A g e § gfe wlEl @ e s
g Aifers werE qard & @Y Y SaEe 7 g il @ E
§  dad Wive d@IFE gER Tl S #H a a6 4 |

g daq N o ¥ ge @ T § e e

(1) o1 R & I (2) & 3 9 &t

(@) @aw a (4) 3 %

PHD/URS-EE-2022 (Economics) Code-D
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e .
94. | Employment elasticity of growth in mensured as ?
(1) Employment growth rate/GDP growth rate
(2) Employment growth rate/Population growth rate
(3) Employment growth rate/l Inemployment growth rate
(4) Employment growth rate/Per capita income growth rate
Rem & AR de A & o o @ 7
(1) TR g RN R &
2) R & [/AEE i
(3) IR gfe /AU afes X
@) I 3R W/ufERa o gRe &
25. | Which of the following assumptions is not correct for the Lewis model of
growth ?
(1) The economy has two sectors
(2) Capitalists reinvest all their profits
(3) Rural wageis determiﬁed by marginal product of labour
(4) The supply of rural labour to médern sector is perfectly elastic
dafs % qed Aea 3 R Freimed § @ M-8 e ad w9 3 2
(1) odemaen & § &9 § '
(2) Gl o @ H AT Fa g |
(@) i T A S W o g PeiRa @ o 3
(4) o & F aeior o9 o o e @ AR 2
PHD/URS EE-2022 (Economics) CodeD e

(10)
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Code-D

Nstion Questions
0. =

— _—— - S e e ————
26. | Conaider the following components of the PURA model of economic

dm'(‘h\]\mvni :

@ Faalitate road connectivity villnges
(M) Enhancement of elect ricity in rural areas
(¢) Estabhishment of evber cafe in villages
(d) Construction of hospital in rural areas

Which of the components given above is/are the major connectivity
formulated by the PURA model ?

(1) (@) and (@) (2) (a), (b) and (d)

(3) (&), (b) and (c) (4) (a), (b), (c), and (d)

Y fewm $ PURA diea & Frafifad gedt o Ber T

# Ml A aeE O A g

g aM aE F e @ gadE

9 TEl ¥ agEt 3% & e

T I 8 F et & i

T U ¢ e § q F9 @/ dd 20 W6R F E ggE qhewd 8/2 |

(1) 3 &R g @) ¥, 83T
B #, AT (4) 31,9 g g

27. | Which of the following was a socialist country ?

(a) Holland (b) Soviet Union

(c) China (d) India

(1) (a) and (b) only (2) (b) and (c) only

(3) (c) and (d) only (4) (a)and (d) only

Prffag § @ $iF-97 TEEER! a9 o1 7

@ Efdve g wifegd 99

7 89 T ARE

1) @@ & IR « @) %9 a AR @

(3) %A@ 4 @ & (4) 9@ A 9K T
PHD/URS-EE-2022 (Economics)(lﬂlc;de—D
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[ ——— e

e ——

28. | Joan Robinson's growth model deals with
(@) Desired growth rate

(b) Possible growth rate

(¢) Natural growth rate

(d) Warranted growth rate

Codes :

(1) (a) and (c)

(2) (b) and (d)

(3) (a)and (b)

(4) () and (d)

S et 1 e st ol e 7
o g e

q  gwied e &t

q  ueios faem a7

T gifeq fawE o

B

(1) @IdRy

(2 FdvT

@ FAdT
(4 adTg

-

# PHD/URS-EE-2022 (Economics) Codey
F (12)
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Questions

29.

Growth of Indian agriculture has been slowed down since the adoption of

new economic policy due to

(a) Low increase in crop yield

(b) Low or no public investment

(¢) Stagnant technology of green revolution

(d) Low retail market prices of agricultural produce

Answer this question by selecting the correct combination of codes given

below :

Cades :

(1) (@), (b), (0), (d) 2 (b)), (©
3) (a), (®), (0 4) (a), @)

7 arfs i R 3 A% @ TR G @ gfe At RRa R & T 7
(3) SO I9 H M giE

@) FH AU B AdeE FEw TE

@ Rex eRa ity aw i

@ ot I G A A

3 Ru o & g G H T FT §H IS HIW L ;-

ke ¢
1 @), @, @, @ @ @, ®
@ @) @ @ @4 &), @

PHD/URS-EE-2022 (Economics) Code-D
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30.

In India. which of the following have the highest share in the disbur Sément
of credit to agriculture and allied activities ?
(1) Commercial Banks (2) Cooperative Banks

(3) Regional Rural Banks (4) Micro finance Institutions

Wﬁﬂ@ﬁﬁﬁﬁhﬁﬂﬁﬁﬁ?ﬂ%ﬁﬂﬂ%ﬁﬂﬂﬂﬁﬂﬁ%ﬂﬁ%ﬂﬁw
g afftrs B 7

(1) i S% (2) GEHrd o4
(3) g aefior % (4) g fox qEEE

31.

Which of the following is a Union tax ?

(1) Corporation tax (2) Taxeson agnculture income
(3) Capitation taxes (4) Land revenues

Prefefes & § S9-w G@w WE?

1) M (2) PN I W I

(3) BT H (4) g-ToTd

b Dl

Consider the following statements and identify the right ones

(i) Central Government does not have exclusive power to impose tax
which is not mentioned in state or concurrent list.

(i) The constitution also provides for transferring certain tax revenue
from union list to states. '

(1) ()only (2) (ii) only

(3) both (4) none

P ol ) fER T R 98 T $ wEE S

@) %W%mmmﬂmﬁﬁﬁﬁqﬁﬁ%ﬁmmmmﬁ@
¥ o T g

(ii) W B HC T B A G T A ARG F @ o e w b

(1) @ (1) (2). I (i)

(3) @ @ T

PHDIURS—EE—2022 (Economics) Code-D e — Pl

(14)
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Code-D

Eu—ﬁt.ion Questions
Pfg:-}, Public authorities include :
(1) Central Government (2) Local Governmenta
(3) State Governments (4) All of the above
g WREeN ¥ A oy
(1) % TER (2) wrf T
(3) TR FIHER (4) It qit
34. | The methods of restoring resource balance between different governments
in a federal setup is based on :
(1) Taxsharing (2) Grantsin Aid
(3) Loans (4) All of the above
W WA e d R e & A g Ggee qe e @) R e w)
e ¥ ?
() o qafwr (2) W ¥ o
@) F= (4) I aft
35. | Wagner’s law is related to :

(1) Public revenue (2) Public expenditure
(3) Publicdebt (4) Budget

TR e fred defa @ 7

(1) gevtE T (2) W@ (GdetE) 27
(3) wHwfE FoT (4) 1

PHD/URS-EE-2022 (Boonomics) CodeD |
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No. e ———— —
36. | Sound tax policy is devised mainly on the basis of :

(1) Maximum tax revenue (2) Elastic tax base

(3) High income elasticity (4) High price elasticity

A F ﬁawmﬁmﬁmmmﬁmﬁ?

(1) fEaw & e (2) SrEET HT AT

(3) I= IW A4 (4) I B
37. | The displacement effect hypothesis was formulated by :

(1) Peacock and Wiseman  (2) Pigou

(3) Smith (4) Musgrave

R T SRR e & R B R 4 7

(1) dtF A aETH @ 9

(3) fera (4) g8
38. | The zero based budgeting was adopted for the first time by

(1) India (2) France

(3) Germany (4) USA

T g} S 39 Feen fFEe g A ™ ?

1) gosa (2) wE

(3) s (4) AT

—

39. | Equals treated equally in taxation leads to :

(1) Vertical equity (@) Real equity -

(3) Horizonta._l equity (4)" None

O @ 3 arl @ GAF HT A 0 Fea € ?

(1) deEad dad (2) IERF T .

(3) Afcer aaa 4) 3 78 ) &

PHD/URS-EE-2022 (Economics) Code-D P
- (16)
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Questions

Wealth tax was abolished iy, -

O 201

3) 2014

Code-D

(2) 2012

4) 2015

¥m%$rﬂ$ammmmﬁmmn?

1) 2011
@ 2014

- 41. | The linear Programming problem specified ag
Max:Z = 8x, + bx, + 10x,
931+x2+8x3595 |

2%, +Tx, +x, < 150

(1) afeasible solution

| (3 multiple solutions

f?i e ST wren & wy F Rt
& | Max:Z=3x + bx, + 10x,

| 9%, +x,+8x <95

' 231 + 7x2+x3$ 150

| ® it w

(2) 2012

(4) 2015

B

Sub to:x +X,+x,<100

X i 8x2l+ 31\(3 <60

and x, > 0, x2<0andx3>0has
(2) anoptimal solution

(4) no solutions

Subto:xl+x2+xss 100
xl+8x2+3x3560 I
M x, 2 0, X, <0 8K x, > 0 8T & Sy
K2 .

(2) T = g
(4) P TAEE T8

URS-ER-2022 (Bconomics) GodedD
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T I——r— 4
No. ey m— e e ——————————————— “\
42. | Given a production function @ = AL® K% a, B> 0, incroasing returng
scale requires that
[ (D) a+p=1 @) a+p=0
@) a+p>0 4) a+p>1
T 3w R g & Q= ALY K o, p> 0 ¥R & a3 0fort & R smaggs
| 2 &
J () a+p=1 @ a+p=0
;L 3) a+B>0 4) a+p>1

43. | According to Game Theory, if increased advertising, raises costs more
than revenues and the profits of both firms decline, we have a
(1) Positive-sum game (2) Non zero-sum game

() Zero-sum game - (4) Negative-sum game
%ﬁﬁ%@n,ﬁﬁamﬁq@mﬁm%m#@ﬁ%@rﬁﬂ%
TS & Free omdt 3, @ Pt 3 @ 7 @ 2

(1) ¥R 4 @ R A A
(3) S A A (4) TERE AT A

44. | A demand function is given q'= 50_5 p. Compute the price elasticity of
demand at p = 5. ,

) 1 )

(3) 2 | @ 2

U AT FH I 5 R R B g =50-5p S R p =5 & a wim A H

olte. T &l ? )

1 . ) -1

3 2 4 25
PHD/URS-EE-2022 (Economics) Code-D —
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uostion
No.

Questions L TT—

45.

—
p and x refapectively are price
and supply, they what will be (he producer’s surplus at p = 4

If the market supply curve ia P = 2+X, whore

(1) 2 (2) v

RS < 21 b, o bW x e oy, p=4 8
T IRE Ay aqp gy 2

(1) 2 (2) -2

46.

—
The consumption function for an economy is C = 80 + °gy Find out MPC
and MPS.

1) 04,06 @) 0.6,0.4

(3) 46 4) 64

U S 3 R START B C = 80 + 0°6Y & MPC AR MPS & i)
1) 04,06 2) 0.6,04

3) 46 (@) 64

47,

Iff(x)=x2—5x+6, find f (0)

1) -5 | @) 6

@) 5 - (4 2x-5
qﬁf(x)=x2-5x+6,a}f(0)mﬂjﬂﬁmu |
@ -5 @6
8 5. .. @) 2x-5

! :':'~_.?[RS'-'EE—2022 (Economics) Code-D

(19)
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e —

e —————

ostior] _ - “;)unuu(ml B
48. | Find dv/dy wheny = 10X
(1 10 2) 1710
@ -10 (4) None of the above
34y = 10x & @ dwdy o $fn
(O 10 (2) 1710
@3) -10 (4) o & 4 FIg

|) §

49, | Find the harmonic mean between 7 and 12
(1) 4.42 (2) 9.6

(3) 9.16 (4) None of the above

7 @R 12 3 919 BUHF W S o

(1) 4.42 (2) 95
(3) 9.16 (@) T q & FE
50. | Solve the equation: 3(x—2) +5=x -4 (2—x)—3

(1 5 2) -5

@) 10 I(4) 12

BT H B iﬁﬁlt[ ‘3(x-2)+5=x-4(2-x)-3

™5 - | (D=5 .
L 3) 10 S S, (T
PHD/URS-EE-2022 (Economics) Code-D
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E.;:gt-iou ______ Questions .

1. | Ifinadistribution mean s 60, mode s 40 and the standard deviation is 10,
then the coefficiont of skewness will bo :
(n 2 @ 2 (3) 20 ) b
R R A w60 R, wgem 40 b oy M faaet 10 B, A s w0 ot gty
W =2 @2 @ o @) b |

62. | A component of the time 'ill‘llﬂ—!:l()d-(_l_-f_};;lr‘(:%uh“_ﬂ :n-l}nr:ul;lpermd
above-trend and below-trend behaviour of a time series is
(1) A trend component (2) A cyclical component
(3) A seasonal component (4) An irregular component
Wﬁwmﬂ%mﬁmﬂ%wﬁvmm%wsg@méag&m%m-m
SR A-wgfty e A B, @ P F @ g i 2 2
(1) % i ges (2) U T gew
(3) T At e (4) wF AFmfE T2

53. | Given the two regression lines estimated from given data as under :
Y =4 +0.4X, X=-2+0.9Y
Then coefficient of correlation between X and Y will be
(1) 04 (2 0.6
(3) 06 (4) 08
T g ST & srgfa & e Y] Feerar § T ¥
Y=4+0.4X, X=-2+4+0.9Y
X @R Y & 4 aeday @ i
(1) 04 @) 05
3 06 4) 08

s
It
h

PHD/URS-EE-2022 (Economics) Code-D
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westiod : Questions
P N(‘- l e —————————————— - ""-—"'_'_,...———-"—'-'_‘F‘-—‘-_h_ ﬁ
dent variables, the regressioy

|
|
!
f

gression with three indepen

!
| 54 In & multiple re
o 9
f coefficients are to be tested. Which test would be used °
!' : (1) Z test (2) F test
| I g‘:ﬂ 1'5 tost (4) { test
| J‘ )
| aﬁamaaﬁmﬁagwﬁmwﬁqﬁwgmﬂwmmm%lmmﬂa
| | R qww & Swd R e ?
| i
iJ NORVA L (2) F oiem
|
3) xR (4) t T
! 55. | Which one of the following is correct ?

(1) Median — Mode = 2/3 (Mean — Mode)
(2) Median — Mode = 1/4 (Mean — Mode)
(3) Median — Mode = 1/3 (Mean — Modé)
(4 Median — Mode = 3/4 (Mean — Mode)
Frfafed § & P9-a1 98 2 ?

(1) ifEs — Tge = 2/3 (%4 — Tge)

(2) wiEaH — g% = 1/4 (14 — Tgwe)

(8) ferH — qgT = 1/3 (e — 9gwie)

(@) e — 7 = 3/4 (e — gr)

PHD/URS-EE-2022 (Economics) Code-D
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ﬁﬁzﬁ"“ Questiony

e e ——

..-——...,_,_«—_-..,_.__.__.__ _—

o ——

66. | Two dice are

obtained, The Probability of this sum boing 2 in

(176 (2) 1736

@) 18

IR PP o ¥ AR W 4 gk O il wwait @y gy Bl
2 89 ) ey R At ?

(4) 2136

(1) e (2) 1/36

3) 1/8 4) 236

thrown and the suma of the numbers on the faces up are

B1gy am @

7. | Given Mean = 30, Standard deviation = 5,
Find the valye of C.V.

(1) -16-67%

2) 16.67%

(3) 60.01%

4) 18.67%
mao,am%s%wamcvwmmmu
(1) | ~16-67%

2) 16.67%

() 60.01%

@) 1867%

y
|

L

l’HDIURS—EE—.‘2022 (Economics) que—D .
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Question Questions )
- List 11 o
. : i ] ist-11 :
68. | Ifr =03, match the items in List-1 with the items 10
| List-IT
Liat-1 -
i, -1to+1 : . ot
ii. Correlation coefficient between —X and Y . Limi :
correlation
coefficient
iii. The Square of Correlation Coefficient c. —-0.3
iv. Coefficient of correlation between _Xand-Y d. Coefficient of
Determination
1 i iii iv
(1) a b c d
(2) b C d .a
3) c a b d
(4) d a b c
af% = 0.3, & & g1 # Fegel B g1 A aegeH | P
w L
i -18+1 o
i.i. —X WY % m m m b, - s W é
"
iii. wEEEd NF F A . _EI'O";
iv. -X#R-Y & 9= weday e JR -
i il i iv
(1) a b c d
2 b c d &
(3) Cc a b d
4 d a b "




Code-D

E;g)ﬂ"" Questions

59. | The test statistic used to test the significance of the adjusted coefficient of
multiple determination (R?) is -
‘ (1) t-test
(2) Z-test
(3) x%test

(4) F-test

60. | Mean deviation is always :

(1) Equal to the standard deviation

(2) Lessthan the standard deviation

(3) More than the standard deviation

(4) Twice of the standard deviation

e faee Baa

(1) e Rree & &t & 2

@) "% fgas & &9 2T 21

@) "% fEwT § s 8 g1 |
@ e Ree & A d B . g !

L TRy T e —
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—
. Questions
NO. - SR e — - .7-—-#-——1F—*-#M _N
ul i - ratios of goods i
61. | Trade between two countries can be useful 1f:(‘.08t ratl 4 are :

(1) Undetermined (2) Decreasing
(3) Equal (4) Different

A A 2 A s o @ wwd AR awgel @ @ Srgur Freiie #
A-waa?

(1) srFeiRa (2) =&

@) W= (4) ST

62.

JURS-EE-2022 (Economics) CodeD .

The term Euro Currency market refers to ;
(1) The international foreign exchange market

(2) The market where the borrowing and lending of currencies takes place
outside the country of issue

(3) The countries which have adopted Euro as their currency

(4) The market in which Euro is exchanged for other currencies

T A IR 9 o g g7
(1) siatsfy f@esh @ amr

(2) 7% AR T A B T A R TR A, T ) e A 2 S A
% .

(3) B 29 3 Z0 A AN X B w7 F ey 2
) %WWWW%W@WW-WMWQ

(26)
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pestion
No.

——

63.

Qlwn!mnn

Which of the followi
" \l J » :
ng theorjes suggests that firma seok to penetrate now

markets over time ?

(1) Imperfect Market Theory

(2) Product cyele theory

(3) Theory of Comparative Adv antage
(4) None of the above

g‘rﬂﬁ“é{ﬁaﬁﬂﬁc&ﬁmmmam%ﬁsqﬂwmc?muﬂnqwrrﬁﬁa'ﬂwm‘cﬁ
?

(1) S ToR R
(2) U= =% g

(3) TaTHS AW H R
(4) I T ] FE T

64.

Dumping refers to :

(1) Reducing tariffs

(2) Sale of goods abroad at a lower price, below their cost and price in
their home market = . ‘ '

(3) Buying goods at low priceé abroad and selling at hjghef prices locally

(4) Expensive goods selling for low prices

TR & arad 2

(1) 2R® F9 FCN
2) ﬁ%ﬁﬁﬂﬁ?{ﬂa@i‘,aﬁwﬂmaﬁ?mﬁwwmm

(3) ﬁ%ﬁﬁﬁmmﬁwmaﬂmﬁmmvﬁwwm

4) mmmmﬂﬁmm%u

l:'HWURS—EE—ZOM (Economics) Code-D
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Fuestion
No.

.

‘\\;

—— e 5 7 . heCaum of .
1 ¢ wde d[ffﬂr
International trade and domestic tri

(1) Different government policies

(@) Immobility of production factors

(3) Trade restrictions

(4) All of the above
W@‘IW‘WH&@WﬂWWW%M%:
(1) RS Tl A

(2) IR F Al H fE

(3) MR yicsy

(4) ST aet

66.

The margin for a currency future should be maintained with the clearing
house by :

(1) The seller
(2) The buyer

(3) Either the buyer or the seller as per the agreement between them
(4) Both the buyer and the seller

@) Tliwr _
@) Wl 2 b3 i gv a2

FIER B w5
(4) FM A fde 2 2

PHD/URS-EE-2022 (Economics) Goda -l
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—\_\~

Questions
—_—

67.

e ——————

Which of the following stateme

nts with reapect to currency option is wrong:
N
(1) Foreign curreney

(2) An Ame

Pupee option is available in India
rics ' ' . - .
“an option can be executed on any day during its currency

v 3 . ;
() Put option Rives the buyer the right to sell the foreign currency

@) Call option wil] be used by
gmﬁw%mﬁﬁw%fﬁaﬂﬁﬁw—mqm Told § ?
()RR e Ry spg ¥ aueey ¥

2) & R Rew aﬂmmﬁmﬁﬂ%ammmﬁqﬁmﬁa%mmm
2

(8) §T oW iR @ R g 393 a1 o 2 2
&) FASH T B R B aw R s

exporters

68.

Govt. policy about exports and imports is called :
(1) Commercial policy (2) Fiscal policy
(3) Monetary policy (4) Finance policy
&R $ i ol omag 3 ar 7 HRY seand D

(1) aiforisgs ifw (2) T A
(3) A i (4) fa i

69.

b

Which of the following is international trade ?

(1) Trade between countries (2) Trade between regions
(8) Trade between provinces (4) Both (2) and (3)
Frffee o & -1 SIS & & ?

(1) 2a & & AR (2) &t 3 &g AR

(3) widl & = =R (@) @ (2) 3 (3)

PHD/URS EE-2022 (Econorrlics)(g;t))devD
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70. | Market in which currencies buy and sell and their prices settle on is calleg
the
(1) International bond market
(2) International capital market
()  Foreign exchange market
(4)  Eurocurrency market
@ o el g i @ A ol ¥ ofry ol gt et @ Rt gt 8, g
T FeET o 8 ?
(1) =R ais qer
(2) Ui gl g
3) Rt g g™
@) T I AR
71. | RBI can print currency notes up to the value of :
(1) 10,000 (2) 5,000
(3) 1,000 (4) 25,000
SIS e I T & Beal A H B T qebl & 7
(1) 10,000 (2) 5,000
3) 1,000 (@) 25,000
79. | Which among the following is not a characteristic of stagflation ?
(1) High inflation (2) Low growth
(3) High employment (4) High unemployment
Rreiferitad & @ PH-H LIRATH H e 7 7 2
(1) I JARHI @ Frer R
(3) = WFR (4) = e

PID/URS-EE-2022 (Economics) Code-D
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@? Questions
- 0.

/-ﬂ-—f ) ) S P _“7"_‘-_"—_._“—".-_——.—-—_-_-_"_
73. | Which among the following is determined independently of govt in India ?
- 1a

(1) Repo rate (£2) Reverse Repo rate
(3) Bank rate (4) All of the above
Frerfed @ @ $9-W Ra 9@k A @y &g q fFffra g & 7
(1) W T (2) Rad M) a¢
@) & R (4) Iua @

7 What is the Repo rate of India in 2020.
(1) 4 Per cent (2) 3.35 Per cent
(3) 3 Per cent (4) None of the above
2020 § STRA W W I H|AE ?
(1) 4 gferd (2) 3.35 ufasr
3) 3 wfawm (@) S § 8 &

75. | Credit Policy is formulated by

(1) RBI (2) CLB
(3) Financial Ministry (4) None of the above
piec Hifd fFad & R 3 S 8 ?
(1) s (2) et

76. | Which is acceptable under statutory liquidity Ratio ?
(1) Reliance shares (2) Equity shares
(3) Treasury bill (4) All of the above
Yaife oReT S B qeq Hie-an e € 7

(1) Ramg 2) e

: 3 0 R (4) ST a9

PHD/URS ER_2022 (Econonm‘u:s)(-3011)3':1'3-D

|

PR VLT <A AN SIS CE - 1 — T R, SR
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e quemion___ 3
O, e —— '
--‘__.:Wh“.* ‘ " ‘ e i - “;-;{-(hu (,,-mmj.md money ma.rket is the
" ;I ;': ' ]:;l::v\d:‘_',::l:u::;:t (2) (Commercial bill market
(3 Call money market (4) Bond market
RRIGN I VI I £ ‘«';,1 qad offtery A wA-Hl g7
(1) f?n:’. e e (2) aiftrfwd [ A
() F 5 IWR (4) dtvs qTHe
= G
78. | NBFI are registered under which act ?
(1) Companies Act 1970 (2) Companies Act 1956
(3) Companies Act 1967 (4) Companies Act 1958
NBFI 9 siftfvas & dea dofiega & 7
(1) w9 sffrm 1970 (2) o aAffaH 1956
(3w i 1967 (4) F+t AT 19568
79. | What is the NABARD's pilot project for digitization of SHG called ?

l

(1) E-Shakti

(2) E-Samriddhi
(3) E-Shanti

(4) E-Samraksha

PHD/URS-EE-2022 (Economics) Godel-

(32)
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= I
Bank credit 1 & credit from

N
(0 It share capital

(@) lts habilitves

) Cash deposits

& s secunties

hm«!éwg«gr

Q) =N W W @ o) Ry
Q) =R Rl @ T W

8l | Alhough s monopalist can charge any price he likes. it does not charge &
higher price than his equilibrium price because :

(1) Higher price means fall in total revenue

@ Higher price can be charged only on that segment of firm’s demand
curve which is price inelastic, implying that the marginal revenue will
be negative

&) It isinconsistent with profit maximization goal under monopoly
(@ Marmnsl cost will be negative over the relevant range of output

W@WMW@@%tﬂmmmkmmwwﬁ
s I ¢ I ¢, W@

@ v S W voes @ 9 § Poee @
| ® wﬂ%qﬁm%mmmwmmeMw{mtﬁm
B Srecre ¥ e o ¥ R R ST ST S

p—— L r B LR
m—— R LR L

022 (Econ s
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uestion
No.

X &
82.

—

______._..-*--rm-—-—"‘ﬂ—"'——-——-_-.—.—_-—_— _\

Questions
< N— e m—————————E el
P2) and X2 = f(P1, P2), then the two commodities are mlbﬂtitut%

I£X1 = f{P1.
i

(1) @EX1/5P2) <0, (5X2/5P1) >0 (2) (6X1/6P2) >0, (6X2/6P1) <0
(3) OXU5P2) >0, (5X2/8P1) >0 (4) (9X1/6P2) <0, (BX2/6P1) <0

TR X1 = {P1, P2) ol Xe = f(P1, P2) B, @ & Fegd T FaX I AT ey
IR |

(1) EX1/85P2) <0, (8X2/6P1) >0 (2) (3X1/5P2) >0, (8X2/6P1) <0

(3) (8X1/5P2) >0, (5X2/6P1) >0 (4) (6X1/5P2) <0, (6X2/6P1) <0

83. | Under monopolistic competition, the cross elasticity of demand for;:
product of a firm will be :
(1) Perfectly elastic " (2) Perfectly inelastic
(3) Highly elastic (4) Higmy inelastic
THIEEHT SRR & T 0w D SwE @ q A st A @ @ ?
(1) i deeR (29 piEr aeeEER
@) ol AR . @) R AR
84. | The Samuelson-Holt formula Provides a measure of :
(1) Consumer’s equilibrium »
(3) Elasticity of dimand Y :; I\C/}:nm'lmer s-s-urp i
_ arginal utility
T2 G R A9 T o 3 7
(1) IPRRT @ g - @) ST = gy
@ maﬁaﬁa ks @) HT Iy
L s |
PHD/URS-EE-2022 (Economicg) Code-D . S ' !
B4yt = -
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l;"""“-----*----..._._.,
_ Question, -
No‘ . b‘-"h-‘-_“ i
M

The revealed refe ‘ s
85, T'he reveale Preforoney RPproach to the derwntion of indifference Curve :

(1) Assumeg sl.uhihts Over time

r

*of an oh
(2)  Assumes thyt all

Served porson's tastos
e identicul tastes

(3 Relies on pe

Peated ohsnrvut
person

iong of the market behaviour of a single

4 Is correctly describeq by both ( 1) and (3)
SEHAA T ) R B Ry

mfr&ummw,:
(1) ﬁﬁmﬂlﬁmﬂ%‘?‘sﬁ

(2)' When wage rate declines, supply of labour increases

(3) Thereisno relationship between wage rate and labour supply

] i d after
(4) When wage rate increases, initially labour supply increases an

some point with the increase in wage rate, labour supply decreases
Wﬂ%ﬁﬁﬂ?@gﬂiﬁ%gﬂﬁ&m?ﬁ?:w%
(1) ﬂ‘q’wgﬂa‘(a@?ﬁ%fﬁmﬁmw#ﬁmzt
) mw@n,mg"mm,ﬁma@:%
|
i Wﬂmwm%m#ﬁzmmﬁﬁmam@w
e T ot o) a7 7 o A & e i
E T gl & # gfe WY AT g

T
e TR
N LT

e, 765) Code.D
£20 f - EE—2022 (Econolmcs)(35)_
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— —"""N-. .,_.
Juestion Questions ¥
No. ——] "? :

87. | Who among the following is not associated with the collective b“ﬁining I

by the labour with the management ?
(1) R.G. Lipsey

(2) Neil W, Chamberlain

(8) Carl M. Stevens J
(4) Bevars D. Mabry : i
ﬁwﬁmﬂﬁﬁﬂw%mmmmﬂ%ﬁsmﬁmﬁ@ﬂﬁt? :
(1) 9. . fosd .
(2) I =Y. I=aA
3) T . ®lE
@) a9 9. W

88. | Select the correct situation Whlch defines ‘welfare trap’:

(1) When population in aﬁ economy continues to remain poor even after
increase in nominal'income !

(2) When rise in the incomés of poor is neutralized by inflation | :

(3) When unemployment increases alongwith inflation

(4) When people getting unemployment allowance do not want to wofk 3

anymore .
e R s S ) T R AT Y
(1) 9 U FdeEen § TEE, TE dE F gRe & R @ e o wEd @ g

@) @ T # o gRE A @ S & o §
@) v A B W S aed #
(4) @ AT FOM G AR SR FH T FE A ¥

PHD/URS-EE-2022 (Economlcs) Code-D
(36)
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—
8. | Producer surplus ig measured ag -

®) a@ﬁ%mﬁ%ﬁ%ﬁh
W SR Tafsima

%8 | The consumer's gain from the imposition of a price ceiling is higher whea:

(I) The own price elasticity of market demand is high and the price
elasticity of market supply is high

@ Theownprioeelasticityafmarketdemandishighandthepﬁw
elasticity of market supply is low

(3) The own price elasticity of market demand is low and the prIce|
elasticity of market supply is high

(4) The own price elasticity of market demand is low and the price
elasticity of market supply is low

WA S F I IR A E SR .

40 TR 9T I O OE RS RIS W @ W NN
s 2

© SR @ T @ o S A oRe O TR @ 8 S W

".: ' -'.(3) w@qﬁ@aﬂﬂﬁ@a“ta‘mﬁwﬁhh

s 2 -
B 0 o g @ oot S an st OER R i du R

” 3 A & # 4 o
A U & K
1
o
y
o ok i ) i T g v s
H . R S L 2 e i oo~ 22w, sanatnd. .
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91.

The Balanced Budget Multiplier is also known a8
(1) Haavelmo-Gelting Balanced Budget theorem
(2)  Unit multiplier of a Balanced Budget

(3) Tax multiplier for a Balanced Budget

@) Government Balanced Budget multiplier
AT ae e B R Ry am @ S @ 7

(1) #ae-Rn wgfoa aoe oig

(2) T §ING §9E & I T

@) T T e P Y RO

(4) TR §RA ST T

92.

Who gave the idea of augmented poverty line ?
(1) V.M. Dandekar (2) Seventh Finance Commission

(3) Planning Commission (4) C.H.Hanumantha Rao
Hardg TE | @ R e R ?

(1) 9 o T3 (2) urar o S

(8) AT AT (4 & . TgHa W@

93.

Which one of the following defines poverty the best :

(1) Productivity of agriculture (2) Unemployment

(3) Nutritional requirements (4) Inequalities in income
Fr & @ 89 e # g3y &9 ¥ oRWIRT Far & 7

(1) A = I

(2) I

(3) YT dEdl IMEYEHAT

(4) @ T TEHEC
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Question . - &}N'I‘-ﬂti““h' ‘\
No. - ~ —~-_.._,__‘_____~_~.
94. | Narasimhan Committee s relatod to
(1) Foreign trade sector (2) Agrniculture seclor
(3) Bankinygsector (4) Kducation sector
e iy 1dad geing 7
(D R &R & (2) i &=
3) fF A (4) fen a3
95. | When was the base year of all India WPI has been revised from 2004-05:,:
2011-12?
(1) May 2017 (2) May 2013
(3) May 2015 (4) May 2018
1S R WP & SR af 2004-05 & 2011-12 %4 wsif ey my 7
(1) #%2017 (2) #2013
(3) #E2015 (4) #2018
96. | An economy achieves “productive efﬁciency” when :

(1) The best resources are employed
(2) The total number of goods produced is greatest

(3) Goods are produced at least cost and no resources are wasted
(4) Resources are employed in their most highly valued uses

T o CTEE A a9 W F o

(1) @aaw HEE HE 2 |

(2) Tafed awgelt @l Fo GEAT §Ed R 2| _

®3) mﬁwwﬁmwwwﬁmm%@nﬂé%«hﬁm
2 o

(4) warEl B G s JeA S § R R o gl
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, "(ilmﬂtioliﬁ T T T T
y 2001 and 2011 ?

Ruestion SR
7 e donwity of India it
97. | What was the popuiati (2) 344 and 311
‘ (1) 322 and 386 (4) 302and 2'{;5
(3) 326 and 382 — fperr @r
& Ao O A EG | ipl ot ) Ar i
001 g ﬁ“-l;ir] I (2) B44 9311
D s
D Fthe world.” This statemar?
98, | “Under E{i'vaJf)—t‘i'{—Jyﬁmﬁmmf the wor ement
was given by : : Wio Clark
N (2) Colin C
\1: l\li\l] . ‘m:].”u'% (4) Ragnar Nurkse ; s
(3) J.Bhagwati e o 2z far
‘-amma%srgﬁmeﬂqﬁmaﬂw%laaww !
(1) € OF Sy @) Pifert D
(3) . Wl (4) T ThH
99. | The sign of country’s growth is : ' : £livi
(1) More and more industries (2) Higher standard of living
(3) Higher per capita income (4) More means of transport
A & o @ FaE @ g ? -
(1) s § afts SRt (2) I SfleT &Y
(3) =R O AR omd (4) UReEd & Al Qe
100. | Which of the following is not true about green accounting ?

(1) Green GDP is less than conventionally measured GDP
(2)  Green GDP takes account for depleted natural resources

(3) Green GDP does not account for pollution as it is difficult to determine
damage from ambient pollution

(4) Many governments are very much interested in extended national
accounts to include the environment

7 e & A & Frefifen & @ Be-ar wd @ 2 2
(1) mmm@amnﬁsﬁmam%.
e e AL T
TG & fw e i ¥
Freier e afea & T R () g 3 o

(4) Hmm#mm%-mmmmﬂmm@
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